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l INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the

|
’ 3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
|
)
I
|
|
| OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
‘ particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

* 6. There will be negative marking for wrong answers. 0.25 mark for each answer.

7. There are blank pages at the end of this Booklet for Rough Work.

| 8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
| Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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(D) None of the above

2. Asteroids are found between the orbits of
(A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

3. In which country the 2023 Asian Games .
was held? o

(A) China
(B) India
(C) Qatar
(D) Japan

4. Who is the director of the 2023 movie
Oppenheimer?

(A) Steven Spielberg
(B) Greta Gerwig

(C) Christopher Nolan
(D) Martin Scorsese

5. Ifthe mode of data 16, 15,17, 16, 15, x, 19,
17, 14 is 15. Then value of x is ’

(A) 15
(B) 16
(©) 17
(D) 19
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(D) 19




6. Grand Canyon locatedin , ... -
(A) Ghana R
{B) Bolivia
(C) USA’

(D) France

7. Half of a tank of 21 dem length, 11 decm
breadth and 6 dem depth is full of water. Now if
100 iron spheres of 21 dcm diameter is immersed
completely into the water of the tank, find the rise
of water level in dem.

(A) 21 dcm
(B) 21 dcm
© 2lcm
D) 2-1cm

8. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim .

(C) Arunachal Pradesh
(D) Tripura

.
‘.

9. A pump of 5 HP can lift 36000 1t. of water
in 8 hrs. How long it will take to lift 63000 It.-of
water by a 7 HP pump?

(A) 10 hrs.
(B) 12 hs.
(C) 15 hrs.
(D) 8 hrs.

10. If the median of arranging the ascending - '

orderof data 8,9, 12, 17, x + 2, x + 4, 30, 31, 34
39is 24. Then value of xis

(A) 22
B) 21
(C) 20
®) 24

H
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11. The colour that scatters the least by the tiny
particles of the atmosphere is

(A) violet
(B) green
(C) yellow
(D) red

12. With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.,

(A) First
(B) Second
(C) Third
(D) Fourth

13. Who among the following is a patt of the
political executive?

(A) District Collector

(B) Secretaryof Ministry of Home Affairs
(C) Home Minister
(D) Director General of Police

14. Headquarters of South-eastern Railway
Zone—

(A) Bhubaneswar |
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

15. If o-8x+§=o-23+2, then value of x is
(A) 3-32
(B) 223
(C) 223
(D) 332

A-d

11, ITGER FY TEIR W @ 78H7 WE
Az fRvgad i GG 2=

(A) @sf8
(B) A&
© =
(D) =&

12, wETEw Ui Sion ARy eReaie v
TR TV B I

(A) 99
(B) fadin
© v
(D) vgd

13, 7FEtnw R wiftefie o o e
(A) o FiES! (FAB)
(B) TG A
(C) 7o} =R
(D) <AFmia it (Rmdz emite)

14, SRS WiHF-oid GRemE TR vei—
(A) 2ITa
(B) ReirieieT
(C) T=re!
(D) coitaiga

15. o-u%:o-zsu,mmmm
(A) 332
®B) 223
(C) 2-23
(D) 332




16. A man canrow 8 km/hr in still water. If the
river is running at 3 km/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22:5km
(B) 32:5km
(C) 25km

(D) 27-5km

17. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE||BCand AD:DB=3: 1;if EA=3-3cm, then
length of AC = ?

(A} I-lcm
(B) 4cm

" (C) 44cm
(D) 55cm

18. The value of 110427+ 65++256 =?

(A) 9
(B) 8
©) 6
(D) 4

19. A pond will be dug in our locality. 24 men
need 12 days to cut that pond. How many men will
be needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

20. Which one of the following Indian States
has the largest coastline?

(A) Tamil Nadu
(B) Gujarat

(C) Maharashtra
(D) Andhra Pradesh
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(C) 25FR
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17. AABC-9F ABYR ACIRE#I DS EfR™M
ENSIT 9XES (@ DE|[BCAR AD:DB=3:1;
T EA = 3-3 Gifil 29, ©R AC-93 07 =¥

(A) 111 R :
(B) 4Gt

(C) 44

(D) 55 G

18. 10+\/27+\/65+\/ﬁ =?
(A) 9
(B) 8
C) 6
D) 4

19. SN A AFIFOIO A | 24 5 EEH
63 75 BT FTw west 12 fe) 8 e 6% ogw
FBLS (@1 AN

(A) 36
(B) 30
(C) 48
(D) Beitaa @ImIDE 10
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(A) offiEmg
(B) &g4H

(C) T2
(D) wEmT™
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21. Find value of
sin43° cos47° + cos 43° sin47°,
(A) 0
B) 1
(C) sing®
(D) cos4”

22, National Aquatic Championships is a
tournament held in which sports?

(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

23, Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

24, The average of 5 numbers is 45. First four
number is 40, 35, 60, 55, then the fifth number is
(Ay 40
(B) 35
(©) 60
(D) 55

25. Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of
(A) Galium
(B) Aluminium
{C) Zinc
(D) Silver

21. sin43° cos47° + cos43°s5in47° =7
(A) O
(B) 1
(C) sing®
(D) cos4®

22, SO CETE IS SHrize I BTG ol CXetr
T S -

(A) ToawiE
(B) cat-cat
(C) %

(D) Ao

23, T4 *retdirs 2 4 7ot dfefes Tew
e

(A) T (77
(B) FAIGARZA A1
(©) TP ﬁr@
(D) @6 i

24. 54T 51T 45 | 2o 4 16 712471 40, 35, 60,
55 3gE, sigm A T3
(A) 40
(B) 35
(C) 60
(D) 55

25. (LT TG0 AT (AT TH 99 o T R
AT Aol (ROTT ZW (UeTSIIRLE™) Ot 25
(A) cofferam
(B) it
(©) Wt
(D) Foit




26. Who had won an Olympics gold medal for
India in shooting?
(A) Jaspal Rana
(B) Rajyavardhan Rathore
(C) Manu Bhaker
(D) Abhinav Bindra

27. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
®B) 21
C) 25
(D) 30

28. The diagonals of rhombus are in the ratio
3 : 4, If the area of the rhombus is 54 cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60cm
(C) 30cm
(D) 12cm

29. Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m
B) 1043 m
10
© Fo
(D) 100m

30. The image formed on the retina of the
human eye is

(A) virtual and mvened
(B) real and inverted
(C) real and erect

(D) virtual and erect
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31. What is the full form of SAI?
(A) Sports Association of India
(B) Sports Archery of India
(C) Sports Authority of India
(D) None of the above

32. Lime water reacts with chlotine to give
(A) bleaching powder

| (B) baking powder

(C) baking soda

(D) washing soda

33. The Bengal Famine of 1769-70 was
worsened by

{A) Locust attack

(B) Rat infestation

(C) High levels of taxation
(D) Smallpox epidemic

"34. Find the value of X for which (x—3) will be
afactor of the polynomial K2x3 — Kx2 +3Kx - K.

1
(A) Oor >
@) o
i
© 27

1
(D) Dor ~77

35. The mirror used as rear-view mirror in
'vehicles—

(A) convex mirror
(B) plane mirror

(C) cylindrical mirror
(D) concave mirror

A-8

31. ¢ QG (SAD)-9F 4 1’ e
(A) CiER SR - 3
(B) CGA =61 =i 2
(C) I SR o 2R
(D) <offE g @IAIE T3

32. o & O R Rt e el @
(A) 32 si%em
B) @R ey
(©) RRER el
(D) TG TIBt et

133, 1769-70 T T TS 25 R
(A) AT S
(B) T TSI
(©) === dferl 3iag a0
(D) o TV TR ST 4zt
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36. Artificial flavour for orange is obtained
from

(A) amyl acetate
(B) isoamyl valerate
(C) methyl butyrate
(D) octyl acetate

37. What will be the value of —5%+7i2+9i0 ?
®) =
(B) =
(© 55
@) +

38. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

39. How many kilometres comprise of a
marathon run?

(A) 42
(B) 25
(©) 36
(D) 18

40. If x=2+V3, x4 =7
(A) 2
(B) 23
© 4
D) 2-3

A9
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36, FEANETICS T F9% TS JI2L T4 A
(A) <UIwiEe SpiHTes
(B) SigmAreyisEs e
(C) feize el
(D) w3iZe SIFIes

Ll l mamaseemr

37. E'i'ﬁ 50

(A) <=
B) =
© 5

o) 1

38. fare Seiey ‘i o w1'-aT ENT @1
(A) T T
B) oiff= @i
(C) wfeare feeifere
(D) =% 3

39, Wi (g9 T [FEIRDGIT (e &2
(A) 42
(B) 25
(©) 36
(D) 18

40. T x=2+\/§,x+%-&ﬂﬁw?{@
(A) 2
B) 23
€ 4
D) 2-43
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41. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him,

(A) 26%
(B) 78%
(©) 52%
D) 13%

42, If aperson travels 10 km by bus in- 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 km/hr.

43. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is ’

(A) 12-5cm
B) 12cm

(C) J69 cm
(D) 24cm

44. Tomato is a natural source of which acid?
(A) Acetic acid
(B) Citric acid
(C) Tartaric acid
(D} Oxalic acid

45. Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

A-10

41. @3 Ffva @wEm bR 80% o
ez 92 Rt 2F awe (eIt 65% o i
e T | B @ eiby sl 7o b
AR 7
‘ (A) 26%

(B) 78%
(C) 52%
D) 13%

42, TR @ FEIE 0T 30 TG 10km =9
RSN L, OIFCE AABH A 77
(A) 10 km/hr.
(B) 20 km/hr.
(C)" 30 km/hr.
(D) 40 kmv/hr.

43. 97 J0eT IS onff 13 G @R e
S1-97 T 10 GT, 0BT (e (03 T01-aF 7S
(A) 125 @
(B) 121

© oo G
(D) 24 &N

4. BB G@IN SFTTT Aigfes Bee
(A) OGS SifFe
B) G Wi
(C) BiHifss enife
(D) e =pife

45. FfEiiRe SmatefR W we e @m
(A) Ted SiE=t
(B) e Szl
(C) w=ree St
(D) TESIF T& qIR T I




46. Sodium hydroxide is used
(A) as an antacid
(B) in manufacture of soap
(C) as acleansing agent
(D) in alkaline batteries

47. Which one of the following planets has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

48. Which country shares the longést border
with India?

(A) China "

(B) Pakistan -

(C) Nepal
(D) Bangladesh

0%
49. {(125)"2x(1_6)"§} =7
(A) 10 R
(B) 10”

(C) 107
D) 1

50. Name the two states of India involved in
Cauvery water dispute.

{A) Karnataka and Tarmil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

A1l - FMRI/22

46. CAIEAT TRGIARE TS
(A) I Faeae
(B) A TeAWEE &0
(C) ~iRFwm +719 &
(D) =age Jivikee

47. (B AEF TAEE QAR YT WO Tojag
I
(A) WA
(B) e
(C) @R
(D) *f

48. (@ Afer ) Mg W eiqred widey

AT MR?

(A) B9

B) =
(C) i
(D) e

4. {(125)"% (15)’%} *
(A) 10
®B) 107
© 107
D) 1

50. PSS IO R etawed o i e
e .

(A) =fios @ ol
(B) F16% 8 (T

(C) 3= ¢ SifiEmy
(D) i e Tmare
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51. The product of two positive numbers is %

. and their quotient is —. Two numbers are
(A)
(B)
©
(D)

._.
N

-

th| & | oy ] oun|

thlw | b Wl w|

52. Acid rain is caused by the oxides of
{A) carbon
(B) nitrogen
(C) sulphur
(D) sulphur and nitrogen

53. Which of the following is biodegradable?
{(A) Aluminium can
(B) Polythene bag
(C) Cowdung
(D) DDT

a b ¢ 2a-3b+4c

54, If 5=7=—

2-3°7 P , the value of

pis
(A) 10
B) 12
© 11
D) 13

55. The price of a machine in a factory
depreciates at the rate of 10% of the price at the
beginning of the year. If the present price is
Rs. 60,000, then calculate what will be its estimated
price after 3 years.

(A) Rs. 43,740

(B) Rs. 43,700
(C) Rs. 43,640
(D) Rs. 44,740

A-12

51. ¥ MR wagE 10 gk ol L v,
50 2
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52. RR I FmelE wmite wife 3fRq
FRA? '

(A) S

(B) wiRGITE™

(C) &<

(D) % @ ARHIE

53. gaffm W @R (5 o5 ?
(A) SUERRIGE g
(B) =t i
(C) k=
(D) fEf&®

b 2a-3b+4c
sa. oy 2-0o g Zazdbrie

3 2 » , p~E99 ¥R
2

(A) 10
(B) 12
© 11
(D) 13

55. @3 Fradg @RieE FT afs =@ 10%
A ZE = | (HRGTE SET 60,000 516 74, 3 39
TR 92 GIPIGTE ToT T

(A) 43,740 51
(B) 43,700 i
- (C) 43,640 il
(D) 44,740 it
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56. PV Sindhu is a champion Indian player in
which sports?
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

57. Which of the following characters can be
acquired but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of eyes
(D) Texture of hair

58. Which among the following is an ethnic
community of Assam?

{A) Bhil
(B) Ahom
(C) Gond
(D) Adi

59. If a commodity is sold with successive
discounts of 20% and 10%, what will be the
equivalent discount?

(A) 28%
B) 30%
(@) 10%
| (D) 20%

60. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
» from the starting point is

(A) 34m
(B) 17m
(C) 26m
(D) 25m
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56. (IR c¥eTive fot & g qaem ohifeia eimein
RIS ?
(A) TEGI=
(B) = G
(C) Irefrsd
(D) G

57. GRufeR WG @G WEW F00 =F e
TeRfESI 0 e T e
(A) TR
(B) (Twzd tew
(C) ®iIT M
(D) &t fepa

58. SRS wifosts sremi @b ?
(A) fom
(B) s
(C) ¢t
(D) wiif

59, @6 TF A9 20% G2 10% =S [F
FAE NG BC XA
(A) 28%
(B) 30%
(€) 10%
(D) 20%

60. e T G et (AT 24 T: Ao
e 3 ©#F 10 i Teafv 39 | T (3w 63
RN

(A) 34 fii:
(B) 17 fi:
(C) 26 &:
(D) 25 f:
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61. A train passes two bridge of lerigths 210m
. and 122m in 25 sec. and 17 sec. respectlvely
Length of the train is

(A) 60m
(B) 70m
(C) 65m.
D) 75m

62. Which one of the following countries is
NOT a permanent member of . UN Security
Council? . : '

(A) France
(B) China

" (C) Japan - .
(D) United Kingdom

63. Thecostofcultivation ofa30mlong pieées '

of land is Rs. 150. If-the breadth of the land be 5m

less, the cost wouldhavebeenRs 120 Thebrcadth ,

of the land is
" (A) 25m
B) 35m
(C) 30m
(D) 40m

64. Whatistherate of sunplemterestper annum,
when the interest of some money in 10 years will

be 2 part of its amount (prmc:pal along with

interest)?

2.,
(A) 5§/cn

® 6% . i
© 63% ' '

(D) None :of fhc aboye

65. Who amongst the following male
international cricketer have NO_T scored a double
hundred in a one day international?

(A) Sachin Tendulkar =
(B) M.S. Dhoni

(O Rohit Sharma

(D) Shubman Gill

A-14

61. <3 GR210f: 9 122&:%1{%@'@@?

25 @ a8 17 (- T o At | e (i 5

(A) 60 fit:
(B8) 70 f:
(€) 65 fi:
(D) 75 ™

62. e orielm Wy @W i AR

(A) ¥9

®) W )

(C) @Il
(D) J&=Ien

63. 30 f5i: (iR i S R TS (/B A
150 Bt | T o &7 5 f: 99 99, O 43
120 51 95 | o &7 2@

(A) 25
B) 35 f:
(C) 30%:
(D) 40 f:

64. ﬁ@ﬂaﬁammwm mw
1035@?%,%% 2 o gAY

(A) 53%
: 1,
B) 63/0

©) 6%%

D) AT @B 7

65. G B o (ErT6 C4ETIH A (TG
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(A) D (T
B) . (KA
(C) @ifEs *f
(D) wesH foe
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66. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s age was
thrice of my sister’s age. Find the present age of
my uncle.

(A) 20 years
(B) 40 years
(C) 80 years
(D) 60 years

~¥

67. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

68. A mixture contains alcohol and waterin the
ratio 4 : 3. If 5 It. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t
B) 121t
(©) 151t
(D) 181t

69. A man’s present age is 125% of what it was
10 years ago. His present age is

(A) 40 years
{(B) 70 years
(C) 50 years
(D) 60 years

70. xocyandy=8 whenx=2;if y =16, value
of xis

(A) 2
(B) 4
© 6
(D) 8

66. SIS TIHRRE I AN QARG TSAH
e @ | 10 I S S PP T
TR RIWE FWEE fomed 7@, IR 90w
T T '

(A) 207=3
(B) 40 =
(C) 80 3=
(D) 60

67. 2023 Rl TRl (R TIBAE AN
PR RS (i IO GBI TR 2
(A) Tmmts e
(B) i
(C) &=
(D) e afdiiEf

68. T I YRR ¢ WER iS40 3|
FRieifbrs 5 &1 Tt vl et g 4 : 5 1SR dne
Rrpeifboe @ siffmie sy e ot @

(A) 10 o
B) 12 o=
(C) 15 oo
(D) 18 f&iota

69. < e TS A 10 I oA T4
125%, ©F IEI I8 T
(A) 40 T
(B) 703
(C) 50 ==
(D) 60 %=

70. xcydRy =8 x=2; y = 16 T, x~4F
T 2R '
(A) 2
(B) 4
(SN
- (D) 8
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71. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B} Ganga
(C) Hooghly
(D) Gomti

72.
9

16

X

26
50
40

16
(A) 16
(B) 4
© 2
D) 8

73. Closest layer to the earth’s surface—
{A) Mesosphere
(B) Troposphere
(C) Ionosphere
(D) Stratosphere

74. Inapartnershipbusiness theratio of capitals

111
g.g.z.lftheymake
a profit of Rs. 3,700 at the end of the year.

The profit share of Badal is
(A) Rs. 1,500
B) Rs. 1,000
(C) Rs. 1,200
(D) Rs. 2,000

of Amit, Angana, Badalis as

75. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of X is

(A) 2010
B) -20r0
(C) 2or-2
(D) Only 0

A-16

wmft@ﬁm?

72.

73.

74.

PGECERC TG
wre 3,700 Bi< L=, IMTET STOJIe A

75.
T, K-8 i\ I

mﬁamﬁm%maw@w

(A) T
(B) ==l
(C) T
(D) Catiwst

9
16

X

26
50
40

1

16

(A) 16
B) 4
(©) 2
D) 8

AT GO G AL TE—
(A) GTAIPEIR

(B) GeafRrars

(C) SRIRFaE

(D) W=

93 SR I e, S, IMETR

111

654wmwm

(A) 1,500 B
(B) 1,000 Bist
(C) 1,200 5=
(D) 2,000 5=

MW 4o + 6Kx + 9 = 0 ANSICIA el 7

(A) 299710
(B) — 2% 0
(©) 259ai -2
(D) &3 0




76. The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

(A)
(B)
©
(D)

A &8 W Eor

77. Buluand Tathagatacandoawork separately
in20days and 30 days respectively. After working
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take to complete
the work alone?

(A) 20days
(B) 28 days
(C) 24 days
(D) 16 days

78. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

79. The ratio of two numbers is 3:4 and their
H.C.Fis 4. Their L..C.M. is

(A) 12
(B) 48
(C) 24
(D) 16

80. The mean proportional of 16 and 25 is
(A) 400
(B) 100
(C) 20
(D) 40

A-17 FMRI/22

76. i SrrCers S Jrea I ol 7 i
W SR YOS 5-5 Gif (ROl et A e Rl
I8 T T3

(A)
(B)
©
D)

(ST I EE R FRCN B

77, T 9R SIS GT5 e Gl G JYP

20 @GR 30 WM T AN | ©IF G 7 T i
I AT AL BT (1T | 04 Oiei3 e 436 10 T
QREPIED! (18 TN |63 D OTO1R 4 (18 TS

TS A (2 :
(A) 20 =

(B) 28 fax
(C) 24fm=
(D) 16 fa= -

78. % 3 @e (IPL)-a7 *:tm B Fe
(A) 3o (aife foret
(B) 2N #ifemm sl
(C) am i fist
(D) et feiffarz ot

79. 9 YT AT 3:4, O LS. 4 7,
G TJ '
(A) 12
(B) 48
(C) 24
(D) 16

80. 16 €< 25-97 TFTRFE]
(A) 400
(B) 100
(€) 20
(D) 40

Please Turn Over




81. Roots of the plants absorb water from the
soil through the process of )

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

82. The theme of India’s G20 presidency .
““Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana
(B) Maha Upanishad
(C) RigVeda

(D) Smriti

83. Largest river island in the world—
" (A) Sundarban
(B) Majuli
(C) Java
(D) Andaman

. 84, Which number would replace in question
marks in the series ? The series 7, 12, 19, 2, 39.

(A) 24
(B) 26
() 28
(D) 29

~ 85. The Dutch wﬁre defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
{C) Pullalur
(D) Colachel

81, shted e M (U0 o7 WA (TF [@old
= _
(A) Rerem
(B) oot s
(C) IR

(D) «afem T @AIbE 7

82, S SIS G20 ATAEAA T 7H T4
TpEeN” Sl @ Fe-a #AfRI A P (4T
S ? '

(A) g
(B) WOl
(C) Ao

D) S

83, oz TdgRe THialt—
(A)
(B) wigf
(C) ==t
(D) SFEH

84. 7,12, 19,7,39 4% =fdcs ? Fw @A AR
@?
(A) 24
(B) 26
(C) 28
(D) 29

85. (iU STRIGE ~IRITErs SraAfRie [&Ea
Arema e 2
(A) eaifoen
(B) stz
(©) ==
(D) (FEsE
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86. The degree of the polynomial ./5 is
1 .
(A) 2
B) 2
(C) 1
Dy 0

87. The strait divides Europe from Africa—
. (A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

88. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit
percentage?

(A) s%%
(B) 10%
1 0,
© 9ﬁA:
(ID) None of the above

89. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
(B) 2-5cm
(C) 1'5¢cm
(D) 8cm

90. Shortest National Higliway in India—
(A) NH548
(B) NHS8
(C) NH44
(D) NH3

FMRI/22

86. |5 el SR T

) 5
®) 2
(© 1
(D) 0

87. (PR LA TCN @ M Ree T e
(A) T
B) @fk
(C) Temro™
(D) (o

88. 110 =ty Rier 3t 120 T wivw Tgew
(AT o o1 T
(A) 8%%
(B) 10%
(© 95:%
(D) i @R T

89. 76 Jred IPIET ™ 5 G @k 3 G|
I A e W@l Jerfe @EEaE
G TR

(A) 26
(B) 2-5 Gifal
() 1-5@M
D) 8

90, SRS ARG A raow Tlow 7o (NH)—
(A) NH548
(B) NHS
(C) NH44
(D) NH3

Please Turn Over
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91. Tooth enamel is made up of
(A) calcium phosphate
(B) calcium carbonate
(C) calcium oxide
(D) potassium

92. A train of length 100m, moving with a
speed of 60km/hr passes a tree. How many time
takes to pass the tree?

(A) 5sec
(B) 8sec
(C) 6sec
(D) 7sec

93. Which of the following crop is an example
of Kharif crop?

(A) Cotton
(B) Wheat
(C) Mustard
(D) Barley

© 94, 2 cos38 =1, value of 0 =?
(A) 10°
" (B) 15°
(C) 20°
D) 30°

95. Freestyle is NOT an event in which of the
following sports?

(A) Swimming
(B) Wrestling
(C) Archery
(D) Skiing

A-20

91. WTod GHIGHE ASTIE & Tl

92. 100m CEa <= GH 60km/hr MRS,
TETI | G5 I e S0 T FHaEl O 2
(A) 5sec S '
(B) 8sec
(C) 6sec
(D) 7 sec

93. FsfRS @b Afvw =Py e
(A) g
(B) W
©) il
(D) el

94. 2 cos36 =1, 6-4F W X
(A) 10°
(B) 15°
(C) 20°
(D) 30°

95, T35 362 @i 4o «alo wed s e
(A) e
(B) T
(C) fez=ifer
D) =R
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96. Which of the following causes depletion of
the ozone layer?

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
(D) Carbon monoxide

. 97, Who among the following is the author of
the book ‘Bandi Jiban’?

(A) Rashbehari Bose

(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

98, The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
(B) 125%
(C) 25%
(D) 130%

99, Ifa:2=b:5=c:8then
50% of a=20% of b = % of ¢,

1
(&) 125

1
(B) 12%
© 105

(D) None of the above

100. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(© 59
(D) 68

96. @ofew Wy @D vy e w7 ghae

e
(A) IR CRIEERS
(B) s

(€) TR
(D) R TR

97. ‘T G BhH7 o @
(A) DR @
(B) I Areraz
(C) TPl ST wiifey
(D) bEmia AR

98. D (AW AR T 50% 3% Tweat
WS CFATH R MR
(A) 120%
(B) 125%
(C) 25%
(D) 130%

99, MM a:2=b:5=c: 8WI®
a-99 50% = b-&9 20% = c-¥iq %.

1
(A) 12§

®) 125

1
© 105

(D) oA @iibE w7

100. =10 W STHF RN A SF e TS 14 9%
TR (T 29 Ratst 0T Sl Al 501 172
fefy <z

(A) 95
(B) 86
(©) 59
(D) 68
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the -
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Headquarters of South-eastern Railway
Zone—

(A) Bhubaneswar
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

2. Which one of the following Indian States
has the largest coastline?

{A) Tamil Nadu
(B) Gujarat

(C) Maharashtra
(DY Andhra Pradesh

3. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him.

(A) 26%
(B) 78%
(C) 52%
D) 13%

4. Closest layer to the earth’s surface—
(A) Mesosphere
(B) Troposphere
(C) Ionosphere
(D) Stratosphere

5. The Bengal Famine of 1769-70 was
worsened by

(A) Locust attack

(B) Ratinfestation

(C) High levels of taxation
(D) Smallpox epidemic

B-2

1. ORSH - (@Eema TV RYT—
(A) SR '
(B) Tir<iofest
(C) Fefret
(D) (RIa=ip

2. ©IF0od (FIH S Y Oorad! ALRL?
(A) wifiEg
(B) we=ls
(C) wag
(D) e

3. @3l Fion Feea (el 80% (o
fatates @3 Rerdt 21 ee (oG 65% (o6 =il
fifte zra | BR Gif et *iswa T =
iciT LR

(A) 26%
®B) 78%
(©) 52%
D) 13%

4. YIS GO A TR TI—
(A) cTAiFFaE
(B) Grifeas
(C) =EiFrFaE
O) “wiGFema

5. 1769-70 AT IR VTG 276 ZAEA
(A) AFAET S
(B) Fw AgSia
(C) &< el Jiad e
(D) ft FTCTa TR BT Q=0




6. The product of two positive numbers is '*15_(6)

and their quotient is L Two numbers are
1 4

Poin}
w >
p— p—_
| W LN ki o

8

g

-

(TIF NI - R e

7. The ratio of two numberts is 3:4 and their
H.C.Fis 4. Their L.C.M. is

(A) 12
(B) 48
(C) 24
(D) 16

8. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE||BCand AD:DB=3:1;ifEA=3-3cm, then
length of AC =7

(A) I'1cm
(B) 4cm

(C) 44cm
(D) 55cm

9. Thecostofcultivationofa30mlong pieces
of land is Rs. 150. If the breadth of the land be 5m
less, the cost would have been Rs. 120. The breadth
of the land is

(A) 25m
(B) 35m
(C) 30m
D) 40m

10. Lime water reacts with chlorine to give
(A) bleaching powder
(B) baking powder
(C) baking soda
(D) washing soda

B-3
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6. 7% TRy werwe L0

50

R4 4 =R
(A)

G2 o % 7,

-

g B

Wi fa | oy b B

P
=
W L]t Lo k] —

-

7. 70 ALY SIS 3:4, ST AL, 4 T,
G R G
(A) 12 ,
(B) 48 ”
(C) 24
(D) 16

8. AABC-99 ABUR AC I B DG EfR
ST S3fFe @ DE||BCYR AD:DB=3:1;
I EA = 3-3 Gifl @, ©@ AC-93 7 1

(A) 11w
(B) 4 &M

(C) 44
(D) 55 @i

9. 30 f¥: (THRME vl s vin TA© TP =T
150 et | I wieg 27 5 f: 99 %o, ©©@ 495
120 St == | ofRfw &2 =@

(A) 25 fa:
B) 35
(©) 30f:
(D) 40 f:

10. e &= i @i Ridea s o =
T (A) TR sifteE

(B) & RR olicoR

(C) @RR EIre

(D) <ee b GHAret
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11. The Dutch were defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
(C) Pullalur
(D) Colachel

12. 2cos30=1, value of 8 =7
(A) 10°
B 15°
(C) 20°
D) 30°

13. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
from the starting point is

(A) 34m
(B) 17m
(C) 26m
(D) 25m

14. The average of 5 numbers is 45. First four
number is 40, 35, 60, 55, then the fifth number is

(A) 40
(B) 35
(©) 60
(D) 55

15, The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

(A)
(B)
©)
)

|8 A WA A

11, (FAICF STRICR 2R Tere FRTRET g
Fieena el e

(A) ‘eFfSaT
B) =7
(C) e
(D) I

12. 2 cos30 =1, 849 A" ZJ
(A) 10°
(B) 15°
(C) 20°
(D) 30°

13. gaea 9fE 3 W (& 24 fil: sifsaf
Qi G 1ot 10 Tl Tenfre o | 9 (U el

R =9

(A) 34 fi:
(B) 171
(C) 26 fl:
(D) 25 ft:

14. 553019 41% 45 | 9w 4 {6 #1341 40, 35, 60,
55 774, A4 WAl T3
(A) 40
(B) 35
(C) 60
(D) 55

15, Tff SreeiE i es PR o 7 i 2,
SR SR8 5-5 GIR TI0G JebIAA RIA1 (T3 (iR
ECERIC RS

(A)

(B)
©
D)

]E B WY oy
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16. If 0-8x+%=0-23+2‘, then value of x is 16. 0-8x+%=0-23'+2,x—£l?1'ﬂmm
(a) 332 ‘ - (A) 332
(B) 223 (B) 223
(C) 223 (C) 223
(D) 332 . - (D) 332
17. The price of a machine in a factory 17. =3 F@ANE ﬂﬁiﬁﬁ:ﬁ] =S T io%

depreciates at the rate of 10% of the price at the T AN T | (IR S50 60 OOOWQCEL 3354
beginning of the year. If the present price is @3 R
Rs. 60,000, then calculate what will be its estimated TR T

price after 3 years. - : (A) 43,7401
(A) Rs. 43,740, (B) 43,700 Srt
(B) Rs. 43,700 | , . (C) 43,6405
(C) Rs. 43,640 . (D) 44,7051
(D) Rs. 44,740 ‘ ) :

18. What is the full form of SAI? 18. <1 @ ®R (SAI-9F ~[=1 T Fe

(A) Sports Association of India : (A) oA IR S 3|
(B) Sports Archery of India : : B) oI IR o 3
(C) Sports Authority of India ' © ool a3 e Bt

(D) .None of the above (D) @sfr TG @G 7

19. Which of the following mirror is used by a 19. ﬁﬁ%ﬁﬁ@ el g v BT @b

dentist to examine a small cavity? A TE AIOF 516 AT T G2
(A) glonvex .mirror (A) TwE Sl
(B) Plane mlrro'r " ®) :
(C) Concave mirror
(D) Combination of convex and concave (C) SToT S
mirror . (D) &SI TG G TI0e WHAL
0 . ) :
C 1Y% | 315
20. {(125)‘2x (16)'5} =7 20. {(125)"2x (16)_5} g '
(A) 10 ' A) 10
®) 10" - | | ®) 10"
© 107 G ©) 107

D) 1 D1
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21. Who among the following is a part of the
political executive?

(A) District Collector

(B) Secretary of Ministry of Home Affaxrs
(C) Home Minister )

(D) Director General of Police

22. A pond will be dug in our locality. 24 men
need 12 days to cut that pond. How many men will
be needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

23. In which 'country the 2023 Asian Games

was held?
(A) China
(B) India
(C) Qatar
(D) Japan

24. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
(B) 21
© 25
(D) 30

1 1
25. What will be the value of — 56 ) —t— 50 ?

(A)

=
o
ox]-—- ‘gl-..l g[w flm

©)

2

21. FrEEfeT MR e col e e
(A) (G STAZS! (PIFF)
(B) ¥4y Afoq
(C) =g I&
(D) e wftre (oragq (Emie)

22, M AIGR S FIoCe WA | 24 G EIEE
92 {3 BIGCS I A 12’@?18%@@3@
FIGC T AN
(A) 36
(B) 30 ) N
(C) 48
(D) BT @IIbE =

23, (PN oed Al (T 2023 S @ e
(A) B
(B) ©1®
(C) e
(D) =

24, 93 ITGLeA 5T @RI afeBa Al
172° @3k GoiF SEicid efeloa sfamter 160°
TRYHT ATRY

(A) 20
(B) 21
(C) 25
(D) 30

1 1
25. 56 72 90

(A)

5
84
3

B) =5
7
90
1
6

-ﬂﬁwwm?

€) =~
(D)




26. National Aquatic Championships.is a
tournament held in which sports?

(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

27. Which of the following characters can be
acquired but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of eyes
(D) Texture of hair

28. PV Sindhu is a champion Indian player in
which sports? ]
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

29. Find the value of K for which (x—3) will be
afactorof the polynomial K2x3 — Kx? +3Kx—K.

1
(A) Oor 57
(B) 0
1
© >

1
) o or —o7

30. Freestyle is NOT an event in which of the
following sports?
(A) Swimming
(B) Wrestling
(C) Archery
(D) Skiing

i .
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26, GO EEIGI BT BTS (IR (YT
T T ? |
(A) Tt
(B) Ca-Cat
(©) ¥
(D) Aol

7. GRofR W @G S e @ e
GeRiidala 7 e T e
(A) 9FE R
(B) (HTRR "o
(C) Bltda =™
(D) & oA

28, (i e 3 % Fg «oem sifeiam ereel
AT ?
(A) TCFGIE
(B) GRE GFm
(C) refirsa
(D) G

29, K2x3 —Kx2? +3Kx— K ol AT
(x — 3) G0 TLAMS T, K-4F A LI

1
(A) OWWE
(B) 0
1
©) =5 .
(D) OWW—Z—,]

30. & 35ize @ =iba w3l s a2
(A) o=
(B) 3%
(C) ToemifE
(D) FR
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31. Asteroids are found between the orbits of
" (A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

32. Whatis therate of simple interest per annum,
when the interest of some money in 10 years will
be 2 part of its amount (prmmpal along with
interest)?

(A) 5%%

(B) 6%%

(©) 6%%

(D) None of the above

33. Who had won an Olympics gold medal for
_India in shooting?
(A) Jaspal Rana
(B) Rajyavardhan Rathore
(C) Manu Bhaker
(D) Abhinav Bindra

34. Inapartnership business theratio of capitals

of Amit, Angana, Badal isas 1 % Ifthey make

a profit of Rs. 3,700 at the end of the year.
The profit share of Badal is

(A) Rs. 1,500

B) Rs. 1,000

(C) Rs. 1,200

(D) Rs. 2,000

35. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B) Ganga
(C) Hooghly
(D) Gomti
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31. (I 6 TN AW SRR ANeT TR 2
(A) = & e
(B) e @ qTfs
©) =R e ==
(D) =4 @ WA

32. Wﬁ@wmwmmw
IOW?E,H}TWW W{“TE@?
(A) 52 %

() sé%

© 62%

(D) @‘?ft?ﬁ' mﬁm

33, IfE>iE IS (RICS SIH0oT T FFoME
T FEREH &2
(A) TN el
(B) I I
() W oiex
(D) Hiewg Ral

34, @ SR ITIT S, SEl, ANEE

ﬂﬁmw‘?ﬁ@llllwmwm

S 3,700 Bret 2ge, AMCTE STopen =T
(A) 1,500 Biet
(B) 1,000 Bt
(C) 1,200 51
(D) 2,000 GBIt

35. (3 19 o fra SiRred AN @G @R
Hew 21 (o T 7

(A) T
(B) =t
(C) =otat
(D) (it
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36. Which of the following causes depletion of
the ozone layer?

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
(D) Carbon monoxide

37.
4

9
16
(A) 16
B) 4
© 2
D) 8

9
16

X

26
50
40

38. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

39. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
(B) 2-5cm
(C) I'5¢cm
(D) 8cm

40. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is

(A) 12-5cm
(B) 12cm

(C) Jgo cm
(D) 24 cm

B-9
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36, 9ol WY @0 v STwA TF Zrig
2q7? .

(A) i CHIFIAT

(B) Fra=

(O) FEFEFER

(D) T TS

37.
4

9
16
(A) 16
B) 4
© 2
D) 8

9
16

X

26
50
40

38. 2023 A Wil (4EE TRARE oS
I AR G ST SIRGAPG I (AR ?

(A) TRt Stiem
(B) @M

(C) o™

(D) g afstiEH

39. 76 0’ IFIER 00 5 IR 9 3 AT
RIS
(A) 2 >
B) 251
©) 156 ‘
D) 8s&N

40. <3 Jraw IPRAR o 13 G =k oo
TG4 T 10 Gif¥, J08T (I (RS S99 Y
(A) 12-5 cifl
(B) 1260

(©) oo G
(D) 24 &R
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41. Name the two states of India involved in
Cauvery water dispute.

(A) Karnataka and Tamil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

42. With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.

(A) First
(B) Second
(C) Third
(D) Fourth

43. Artificial flavour for orange is obtained
from

(A) amyl acetate
(B) isoamyl valerate
(C) methyl butyrate
(D) octyl acetate

44. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s age was
thrice of my sister’s age. Find the present age of
my uncle.

(A) 20 years
(B) 40 years
(C) 80 years
(D) 60 years

45. The diagonals of rhombus are in the ratio
3 : 4. If the area of the rhombus is 54 cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60 cm
(C) 30 cm

(D) 12cm

B-10

41. AT TG (AT S99 (@1 76 Arey

Eiee?
(A) o ¢ wifiFmg
(B) &fioe @ 95

(C) @97 ¢ SIfEHIg
(D) efeil ¢ S

42. veEe wfewis Sim W i¥e saeare A
wlared 2+ far I
(A) 9449
(B) fadim
(C) oo
(D) vgd

43. FTIAFYLS FIEAT 91F TS G2 I T
(A) wuraiEs SpifAws
(B) wRGieyiEa efenat
(C) Feize [REfb
(D) w3iZ= Sifioe

44. SNE FIPREE I GNE @A IS0
e fawd | 10 358 = W SRS T
TR @A e fonad o, FwEga I
T 24

(A) 2033
(B) 40 =3
(C) 803z
(D) 60 9%

45. I 96 TIrE THba waie 3: 4 93
THOTA CHRGT 54 IO =W, O3 O #AfaHAs 2&
(A) 48 it
(B) 60 Gifal
(C) 30 Gif
(D) 12 ¢if%




46. Which one of the following countries is .

NOT a permanent member of. UN Security
Council? '

(A} France
(B) China
(C) Japan
(D) United Kingdom

47, Whjéh country shares ﬁle longest border
with India?

(A) China

(B) Pakistan
(C) Nepal

{D) Bangladesh

48. By selling 110 mangoes, if the cost price of

120 mangoes has been got, what will be the profit
percentage?

) s%%
B 10%
1
© QE%
(D) None of the above

49. The value of 1f10+,[27+m =7
(A) 9
®) 8
© 6
D) 4

50, If x=2+(/§,x+%'=?
(A) 2
(B) 243
© 4
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raise AT 7T e e
(A) ¥

(B) 5.

(C) =N

(D) &9 .

47, (O TN GO X SINreR Aoy
(A) B '
B) i
(C) @i
(D) FTH!

48. 110 o == f&fer e 120 T Hiew oy

(TR e T T

(A) s%% .
®B) 10%

©) 9%%

(D) S @GR 7

49. 10427465+ 4256 =?
(A) 9 '
(B) 8
(C) 6
(D) 4

3 C

50, 9 x=2+\/§,x+%-«ﬂaﬂﬁm'
(A) 2
(B) 243
<o 4

D) 2-3

D) 243
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51. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
B) 86
(C) 59
(D) 68

' 52, Ifthe mode of data 16, 15, 17, 16, 15, x, 19,
17, 14 is 15. Then value of x is

A) 15
(B) 16
© 17
(D) 19

53. Which of the following crop is an example
of Kharif crop?

(A) Cotton
| (B) Wheat
(C) Mustard
(D) Barley

|
\
54. A train of length 100m, moving with a
speed of 60km/hr passes a tree. How many time
takes to pass the tree?

(A) 5sec
(B) B sec
(C) 6sec
(D) 7sec

55. Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of

(A) Galium
(B) Alumininm
(C) Zinc

(D) Silver

B-12

51. {5 13 S0ET WA T TFOA ANS 144
W\mﬁcﬁwwﬁmﬁwwﬁwm | 7RI
Fiefa

. (A) 95
(B) 86 -
(©) 59
(D) 68

52. 16, 15, 17, 16, 15, x, 19, 17, 14 S=
TRANGF T 15 T, x99 T I

(A) 15

(B) 16

(C) 17

(D) 19

53. FnfERe WG KifT =me
(A) I
(B) o=t
(© 7
(D) el

54. 100m e 9B GF 60km/hr STt
BoTeliv | GFIG ATR(P TS FA0S T© I F19ME 2
"~ (A) Ssec
(B) 8 sec
(C) 6 sec
(D) 7 sec

55, EIRICT TAE 0 ({TF T 919 & T
AlGeT 2iteiel (e = (SPITIRISE™H) o 25
(A) csifemm
(B) Syiegifwats
(C) w3t
(D) =l
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56. How many kilometres comprise of a
marathon run?

(A) 42
®) 25
(©) 36
(D) 18

57. If the median of arranging the ascending
order of data 8,9, 12, 17, x + 2, x + 4, 30, 31, 34,

39 is 24. Then value of x is
(A) 22
®) 21
© 20
(D) 24

58. Which number would replace in question
marks in the series ? The series 7, 12, 19, 7, 39.

(A) 24
(B) 26
(©) 28
(D) 29

59. A mixture contains alcohol and waterin the
ratio 4 : 3. If 5 1t. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t.
(B) 121t
(©) 151t
(D) 181t.

60. Half of a tank of 21 dcm length, 11 dem
breadth and 6 dcm depth is full of water. Now if
100 iron spheres of 21 dem diameter is immersed
completely into the water of the tank, find the rise
of water level in dcm.

(A) 2:1decm
(B) 21 dcm
(©) 21cm
(D) 2-1cm
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56, PRI (e-q T RTERGI (Mo 2a?
(A) 42 :
(B) 25
(C) 36
(D) 18

57, GHEFPIE A 8, 9, 12, 17, x + 2,

x+4,30, 31, 34, 39 ST S 24 T, x4
Ea|

(A) 22

®B) 21

(©) 20

D) 24

58. 7,12,19,7,39 <& =it 7 U @iF 76
297
(A) 24
" (B) 26
(©) 28
(D) 29 -

59, G Rt SPETRHRET ' Gleid SiiS 4 ¢ 3|
TIeTe 5 & : 5o DieE Seie 2 4 : 5 | O &va
Fdlbre @ oAfmet SoEiEE e ©f ==

(A) 10 =5
(B) 12
(C) 15 o=
(D) 18 fioH

60. 21 CSBIR A, 11 (o e 932 6 (OBl
oS Il Frarst W wEeld iRl O GRR
sty 7t 21 G rGRRAS Tie™ 100 6 eg
ColleTs Fr=jel BRI (reTt 20 O Trtor T (Ui
BT BIa e

(A) 2-1 e
(B) 21 (=i
(O)-21 ¢
D) 21&™
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61. Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

62. Which of the following is biodegradable?
(A) Aluminium can
(B) Polythene bag
(C) Cowdung
(D) DDT

)

63. Which one of the following planets has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

2

64. Roots of the plants absorb water from the
soil through the process of

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

65. Who amongst the following male
international cricketer have NOT scored a double
hundred in a one day international?

(A) Sachin Tendulkar
(B) M.S. Dhoni

(C) Rohit Sharma
(D) Shubman Gill

B-14 -

61. THfT ot 2 «f wet dfefe sww
@

(A) 4G 67
(B) INTIZA W
(C) =TI S
D) I G
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(A) SRR i
B) wfAfA= et
(€) |
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(A) T
(B) e
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(A) Afoq Cogerea
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66. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of K is

(A) 2or0
(B) —2or0
(C) 2or2
(D) Oniy 0

67. Who among the following is the author of
the book ‘Bandi Jiban’? ‘

(A) Rashbehari Bose

(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

68. Ifapersontravels 10 km by bus in 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 kmihr.

69. Shortest National Highway in India—
(A) NH548
(B) NHS8
(C) NH44
(D) NH3

70. A man canrow 8 km/hr in still water. If the
river is running at 3 kmv/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22:5km
(B) 32-5km
(C) 25km

(D) 27-5km

B-15
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66, T 4x* + 6Kx + 9 = 0 AN el T
TH, K~49 9 F9 2

(A) 292910
(B) —2® 0
(C) 252
(D) G0

67. ‘TN G’ A2HT FELE @2
(A) IRRIA @
(B) 97 elwid
(C) ==l S wifer
(D) bl A+

68. =% @ITN I AGTHE 30 TG 10km 7Y
STy T, Ol IHF sferat T3
(A) 10km/r.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 km/hr.

69. SRS AR FHrEod S 7es (NH)—
(A) NH548
(B) NH8
(C) NH44
(D) NH3
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71. Largest river island in the world— 71. g gz MR
(B) Majuli ‘ : (B) Wi
(C) Java ‘
(D) Andaman © =l
(D) ==
72. The mean proportional of 16 and 25 is 72. 16 O3 2593 TTATIANS
(A) 400 (A) 400
(B) 100 (B) 100
(C) 20 (C) 20
(D) 40 (D) 40 |
a_b_c_2a-3b+4c ' 1m\?3_2_5_2c1—3b+4c
73'“2_3_4_—11 , the value of 73. 2°3°%° 7 , P99 g
pis hS 7
(A) 10 (A) 10
(B) 12 (B) 12
© 11 ©) 11
(D) 13 (D) 13
74. Tooth enamel is made up of 74, MICTY GAIGTET ATV &= s
{A) calcium phosphate (A) FERTT TS
(B} calcium carbonate (B) <WEREN TS
(C) calcium oxide . f?. .
(D) potassium © )
(D) =i
75. The mirror used as rear-view mirror in 75. Tiea s o7dia g 8 e AHifRTS Qs o
vehicles— Eg|
(A) convex mirror (A) Bt SRl
(B) plane mirror
(C) cylindrical mirror (®) )
(D) concave mirror (C) (AR St
(D) SO SRl



76. Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m

(B) 1043 m

10
© F™
(D) 100m

77. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

78. xcyand y=8 whenx=2;if y =16, value

of x is
(A) 2
(B) 4
€) 6
(D) 8

79. A train passes two bridge of lengths 210m
and 122m in 25 sec. and 17-sec. respectively.
Length of the train is

(A) 60m
(B) 70m
(C) 65m
(D) 75m

80. Sodium hydroxide is used
(A) as an antacid .
(B) in manufacture of soap
(C) as acleansing agent
(D) in alkaline batteries

B-17
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© -J—iﬁ:
(D) 100 fi:

77. &% B =1 (IPL)-9%t 21t U Fe
(A) IETM catfz Bt
(B) s AR el
(C) B 2 et
(D) e {2y fesl

78. xcydRy =84 x =2, y= 16T, x-9¥
RICETS)
(A) 2
(B) 4
) 6
D) 8

79. «F76 G7 210 92. 122 B D2 s e
25 @1: 992 17 (7 708 SO TAE | G i

(A) 60 ft:
(B) 70 f%:
(©) 65 i
(D) 75 f:
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81. Buluand Tathagatacandoawork separately
in20days and 30 days respectively. After working
7 days together both of them left away. Then Tatai

" came and completed rest of the work alone in
10days. How many days Tatai will take to complete _

the work alone?
(A) 20 days
(B) 28 days
(C) 24 days
(D) 16 days

82. If a commodity is sold with successive
discounts of 20% and 10%, what will- be the
equivalent discount?

(A). 28%
B) 30%
(©) 10%
(D) 20%

83. A pump of 5 HP can lift 36000 lt. of water

" in 8 hrs. How long it will take to lift 63000 It. of

water by a 7 HP pump?
(A) 10 hrs.
(B) 12 hrs.
(C) 15 hrs.
(D) 8hrs,

x2—x—6 x x2+4x-5
"x24+4x-5  x2-4x+3

84. Find value

X
1
—

Gy

REY
+ +
N

(B)

o
|
[FCRS.

© =
(D) None of the above

b

85. Acid rain is caused by the oxides of
(A) carbon
(B) nitrogen
{C) sulphur
" (D) sulphur and nitrogen

B-18

81, FF 9 SIS G Fher G G JAFH
20 @3 30 i 0O A | Bt G 7 faw i
TR AR TGS 5T (5167 1O BTS2 3 <l 10Tt
R FICGH! (18 TN | SR T SISiR G (17 FATO
T AN (¢ '

_(A) 20w
(B) 28 fm
(C) 24T
(D) 16 T

82, «F T AT 20% €% 10% =e R&iE
FAE ATRel] B 209
(A) 28%
(B) 30%
©) 10%
(D) 20%

83. 5 TS AE W0 A=t 36000 f&1: &=
8 QDI BAITH GET0O #AIE | 7 TR0} 7T A=
63000 f&1: T GeTe Y i

(A) 10 9%
(B) 1290
(C) 15 9%t
(D) 89

x2-x-6 o Xe+dx=5
2 +4x-5  x2—-4x+3

84. W= [T T3 ¢

x=1 -
x+2
x+2

(A)

(B)

W o

o o=

|

() 1
(D) BoET DR 7

85. AT T e SERe Wite 3P
EEGE

(A) T

(B) =i2guite=

(€) =

(D) 94FF @ ARGHEw




86. Ifa:2=b:5=c:8then
50% of a=20% of b=

1
(A) 123

1
(B) 12?
(8] 105

% of c.

(D) None of the above

87. The image formed on the retina of the
human eye is

(A) virtual and inverted
(B) real and inverted
(C) real and erect

(D) virtual and erect -

88. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

89. The theme of India’s G20 presidency
““Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana
(B) Maha Upanishad
(C) Rig Veda

(D) Smriti

90. Grand Canyon located in
(A) Ghana
(B) Bolivia
(© USA
(D) France

B-19
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91. Find value of
sin43° cos47° + cos43° sin47°.
A) 0
®B) 1
(C) sind®
{D) cos4® :

92. Who is the director of the 2023 movie
Oppenheimer?
(A) Steven Spielberg
(B) Greta Gerwig
(C) Christopher Nolan
(D) Martin Scorsese

-~

93. Aman’s present age is 125% of what it was
10 years ago. His present age i$
(A) 40 years
(B) 70 years
(C) 50 years
(D) 60 years

94, Which among the following is an ethnic
community of Assam?
(A) Bhil
(B) Ahom
(C) Gond

D) Adi

95. Tomato is a natural source of which acid?
(A) Acetic acid
(B) Citric acid
(C) Tartaric acid
(D) Oxalic acid -

91. 5in43° cos47° + cos43° sin47° =7
(A) O
B) 1
(C) sing®
(D) cosq4®

92, 2023 T WA CARIRNT-9T “ARTE
Fe

(A) ‘Fores Peemarsf
(B) c2i5t Ame2sl
(C) TFComTE e
(D) wfea o™

93, cﬂﬁiﬁ]@ﬁﬁéﬂmmloaﬁ{cﬁmﬂa
125%, ‘oI TG 77 2

(A) 40 T=F
.(B) 70q=7
(C) 50321
®) 60T

94, HIAIGIE Tifos® Femm WG ?
(A) fem
(B) =™
(C) col
(D) wif

95. DG (<o SIFACE el Beorz
(A) SOADS SiFe
(B) vigfT <o
(C) St wife
(D) SEies Spife




96. The colour that scatters the least by the tiny
particles of the atmosphere is

(A) violet
(B) green
(C) yellow
(D) red

97. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim
| (C) Arunachal Pradesh
' (D) Tripura

98. The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
®B) 125%
©) 25%
(D) 130%

99, The strait divides Europe from Africa-—
(A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

160. The degree of the polynomial /5 is
1 .
A 3
(B) 2
1 © 1 '
D) 0
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:
1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the

Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

¢ p)
=

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

| 5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.
7. There are blank pages at the end of this Booklet for Rough Work.

| 8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which country shares the longest border
with India?
(A) China
(B) Pakistan
(C) Nepal
(D) Bangladesh

2. Which one of the following planets has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

3. Acid rain is caused by the oxides of
(A) carbon
(B) nitrogen
(C) sulphur
(D) sulphur and nitrogen

4. Whatis therate of simple interest per annum,
when the interest of some money in 10 years will
be 2 part of its amount (principal along with
intefest)? o

20
(A) 53%

10
(B) 63%

20
©) 65/0

(D) None of the above

5. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(©) 59
(D) 68

C-2

¢

1. (F efer omiE X orRTed v"?tﬂw
NG SR 2
(A) B
(B) iR
(C) @A
(D) T

2. (PN &0RF FEE @R MY we Tegg
IR ?
(A) ==
(B) gT~ifs
(C)y =lp
(D) =

3. (il A @melE wwiRe Wi 3By
DIt ?

(A) S

(B) RgiTe=

(©) &

(D) %S @ LGS

4. ot AT o 29 FO ZE (@I B
1035@?1%%@1% 2@:*1?@?
(A) 53 20,

" (B) 6%%

©) 6%%

(D) Botaa =g T

5. (B 1 SEd R I SHB TS 14 9
RITG (T 29 TRl Tt o STy 29 | Rt
feefar 3t
(A) 95
(B) 86
(C) 59
(D) 68



6. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim -

(C) Arunachal Pradesh
(D) Tripura

7. Who is the director of the 2023 movie
Oppenheimer?

(A) Steven Spielberg
(B) Greta Gerwig

(C) Christopher Nolan
(D) Martin Scorsese

8. Grand Canyon located in
(A) Ghana
(B) Bolivia
(C) USA
(D) France

9. Which one of the following Indian States
has the largest coastline?

(A) Tamil Nadu
(B) Gujarat

-(C) Maharashtra
{D) Andhra Pradesh

10. Tomato is a natural source of which acid?
(A) Acetic acid
(B) Citric acid
(C) Tartaric acid
(D) Oxalic acid

C.3 ' ' FMRI/22

6. @i A Tex 7 eraws ‘Gss FEont
(Seven Sisters/AlS (A)-47 SIS 713 2

(A) GraieTd

(8) Fife

(C) S=FAet 9t
(D) fasjat

7. 2023 I ETE SRR SrAwaRIH-a3 AfEsERs
$7 '

(A) F5ren Peterais
(B) GGt siarezst .
(C) T&HBITE G
(D) Mow FE™

8. o wifimn wafge
(A) I
(B) Ferfemm
(C) TE .
(D) FIA

9, SIEUSA (T ANCH Y SorAd AR ?
(A) IFEFIg
(B) el
(C) T=1§
(D) ST

10. SI5! G SIFeY Apfes Beoi
(A) SHETE =pifre
(B) s wniFre
(C) SRS wnfie
(D) e ShifTe
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11. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

12. The colour that scatters the least by the tiny
particles of the atmosphere is
(A) violet
(B) green
(C) yellow
(D) red

13. Which one of the following countries is
NOT a permanent member of UN Security
Council?

(A) France
(B) China
(C) Japan
(D) United Kingdom

14. Name the two states of India involved in
Cauvery water dispute.

(A) Karnataka and Tamil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

15. Which among the following is an ethnic
community of Assam?

(A) Bhil
(B) Ahom
(C) Gond

(D) Adi

C-4

11, @fE 5 @& (IPL)-97 =t s e
(A) 2fwia caifire @il
(B) 2 oifgmia fors)
(C) Efeaa sisiaq et
(D) s fafimma fel

12, ADerHa Fu s o @ e ofe
AE fAugad @b it @@

(A) aaf
(B) qei

(C) @
(D) #m®

13, Meva omaferm S i o Ao
ferentetat oiferanra il st s e
(A) o
(B) B
(C) ol
(D) J&aE

14, FIAA GEracha &2 eranea e i w16y
wfow »
(A) #i6a ¢ wifiemiy
(B) #fios @ (=a#
(C) @7™ @ Sifiwag
(D) &fem @ e

15, SIMIGTE wifeste eemn (@M ¢
(A) fe=1
(B) wizh
(C) ol
(D) wilft




16. If the roots of the quadratic equation
4x% + 6Kx + 9 = 0 are equal, then value of K'is

(A) 2ot -
(B) -20r0
(C) 2Zor-2

‘L (D) Only 0

17. Find value of
s5in43° cos47° + cos43° sin47°.
A0
®) 1
(C) sind®
(D) cos4®

18. PV Sindhu is a champion Indian player in
which sports?
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

19. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE | BCand AD:DB=3:1;if EA=3-3 cm, then
length of AC=7?

(A) I'l1cm
(B) 4cm

() 44cm
(D) 55cm

20. The Dutch were defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
(C) Pullalur
(D) Colachel

eIt SRS @ DE || BCER AD:DB=3:1;
" off EA = 3-3 Gl T, O1F AC-<3 ) =@
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16, % 422 + 6Kx + 9 = 0 FFACIT e o o=
2h, K< A 972

(A) 29RO
(B) — 29210 | |
(©) 29 -2
(D) @0

17. sin43° cos47° + cos43° sin47° =?
(A) O
B) 1
(C) sin4®
(D) cosd®

18. mmﬁ%ﬁﬁawwﬁmw%
TG 2 '
(A) qELIH
(B) GRe G
(C) Frefirsa
(D) GFA

19. AABC-@3 AB 4R ACTIEd 8= D e ER

(A) 1-1 G
(B) 4 G

(C) 44 AR
(D) 55 G

20. W%GWWWW
BIATER RIS DIE

(A) enifoeap
(B) “ifsia
(O ~fmie
(D) GREEE
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21. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

22. Who had won an Olympics gold medal for
India in shooting?

(A) Jaspal Rana

(B) Rajyavardhan Rathore
(C) Manu Bhaker

(D) Abhinav Bindra

23. Apond will be dug in our locality. 24 men
need 12 days to cut that pond. How many men will
be. needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

24. National Aquatic Championships is a
tournament held in which sports?

(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

25. Largest river island in the world—
(A) Sundarban
(B) Majuli
(C) Java
(D) Andaman

C-6

21. fagre B T w9'-99 o @7
(A) =01 o7
(B) mifufe= ez
(C) oS Feifie
(D) ¥ e

22, SRS 30T (RITITT SRTE T TR

T AR (T2
(A) T T
(B) ACII4R AT
© ey
(D) Sfewq Rt

23. ST SAISIR 59 FOCO TR | 24 T G
&% 7[g9 Pl T Fest 12 Fat | 8 ooy @2 ofpm
TIGCS T MR

(A) 36
(B) 30
() 48

(D) Toid @ADL 78

24. SISREEEIO! SRR BerTS i ciea
T 9 ¢

(A) fomife -
(B) -l
©) ¥R

(D) witeR

25, e s-qee TREE—
(A) T
(B) gy
(C) wret
(D) S

"'t"




26. The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
B) 125%
(C) 25%
(D) 130%

27. Ifapersontravels 10 kmby busin 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 km/hr.

28. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit
percentage?

(A) 8%%
®) 10%
© 9—%
(D) None of the abové

29. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s age was
thrice of my sister’s age. Find the present age of
my uncle.

(A) 20 years
(B) 40 years
(C) 80 years
(D) 60 years

30. Ifthe mode of data 16, 15, 17,16, 15,x, 19,
17, 14 is 15. Then value of x is

(A) 15
(B) 16
©) 17
(D) 19

G
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26. 3B (A TN T 50% e T
G (T i AT
(A) 120%
(B) 125%
(C) 25%
(D) 130%

27. % @I IfE AT H08 30 NG 10km A
wfeey T, OF IR et g3
(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) -40 kmvhr.

28. 110 7 =i R T 120 & w0 FRen |
(oI ] S A
(A) s%%
(B) 10%
(©) 9_%

(D) ﬁ?vrm' @@L 9

29, ST SIOREE T ST Q@ IO
Wﬁ\wwwwsfwwmgw
SR @R O foned A, FIPRILE I6A
AT

(A) 20q=8
(B) 40==3
(C) 80 T=A
(D) 609=A

30. 16, 15, 17, 16, 15, x, 19, 17, 14 S&=
SRYNF W 15 A, x99 T FJ

(A) 15

®) 16

(C) 17

D) 19
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31. Who armong the following is a part of the
political executive?

(A) District Collector

(B) Secretary of Ministry of Home Affairs
(C) Home Minister

(D) Director General of Police

32. How many kilometres comprise of a
marathon run?

(A) 42
®) 25
(C) 36
(D) 18

33. A train of length 100m, moving with a _
speed of 60km/hr passes a tree. How many time
takes to pass the tree?

(A) Ssec

(B) 8 sec
(©) 6sec
(D) 7 sec

1 1

. 1
379
. 34. What will be the value of +72+ 50 -

56
(A)
B)
©)
D)

o= 8= 3w Flw

35. A train passes two bridge of lengths 210m

and 122m in 25 sec. and 17 sec. respectively.
Length of the train is '

{A) 60m
(B) 70 m
(C) 65m

(D) 75

C'8 1

31. AEAfes R it @R o
(A) (ST TS (FINETIT)
(B) Fa1g =l
(C) ¥aig 18 !
- (D). A= wifteef (Reaga i)

32. RN (%9 T ARG oirere =0
(A) 42
(B) 25
(€) 36
(D) 18

33. 100m MR @3B GA 60km/hr STFSTRTS!

| O | 4T AT ST TICS TS T S9N ?

(A) 5sec
(B) 8sec
(C) 6sec
(D) 7 sec

Ll aqam oo zae

M. 5+t t5

A =
(B)
©

5

84

3

70

7

%
o L
6

35. 96 G5 2100093 122 f- e yfe e
© 25(1: 932 17 1T S SR | G (T J
(A) 60 fit:
~ (B) 70
(C) 651
(D) 75:




36, The length of a radius of a-circle is 13 cm
and the length of a chord of a circle is 10 em,
the distance of the chord from the centre of the
circle is

(A) 12:5cm
(B) 12cm

(©) Jeo cm
(D) 24 cm

37. Headquarters of South-eastern Railway
Zone-

(A) Bhubaneswar
(B) Visakhapatnam
(C) Kolkata

{D) Coimbatore

6
=7

3
38. {(lZS)‘zx(lﬁ)_i}
(A) 10
(B) 10™
(C) 107
(D) 1

39. The theme of India’s G20 presidency
“Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana
(B) Maha Upanishad-
(C) Rig Veda

(D) Smrii

40. Which of the following crop is an eiample
of Kharif crop?

(A) Cotton

(B) Wheat
(C) Mustard
(D) Barley

FMRI/22

36. 3l Jrea e W 13 i 9k Jred

- TP~ T 10 G, 09T (e (R G- T

(A) 125 &if
(B) 12 (A

© ey R -
(D) 24 G

37. ©1qred w5 (RerE e wed—
(A) R
(B) Rireeam ‘
(C) F=iel
(D) G

N%
38. {(125)'2x(16)‘5} =?
(A) 10
(B) 10

(©) 107
(D) 1

39, SIF0S HIAIES G20 FCHTC [ 71 T

- g Qe o e o Siew ci
¢ eeibee

(A) T27EH
(B) TRIS#RER
(C) I

(D) e

40. RElRs Wb G =5
(A) =il
(B) ™
(©)
(D) ifel
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41. Artificial flavour for orange is obtained
from
(A) amyl acetate
(B) isoamyl valerate
(C) methyl butyrate
(D) octyl acetate

42. The image formed on the retina of the
human eye is

(A) virtual and inverted
(B) real and inverted
(C) real and erect

(D) virtual and erect

43. Find the value of K for which (x - 3) will be
afactor of the polynomial K2x3 - Kx? +3Kx - K.

|
(A) Oor 77
(B) 0

© 3

1
(D) Oor—ﬁ

44. Closest layer to the earth’s surface—
(A) Mesosphere
(B) Troposphere
(C) lonosphere
(D) Stratosphere

45. Which of the following causes depletion of
the ozone layer?

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
(D) Carbon monoxide

C-10

41. FAEAETICS Fias 5% TW0S G214 S 40
(A) SR Siwme
(B) Sizwirerze et
(C) fiaize e
(D) wi#fa snifins

42. WA 510 fbaics @ afeRE wue ©f 22
(A) T2FS 932 TrH!
(B) =¥ 93z TrHl
(C) =g a3 il
(D) wiziFe @3z Pt

43. K2x3 —Kx2 +3Kx— K quodl #H22jralieia
(x - 3) 93> TeAWS o7, K-97 9 (3

1
(A) 0w
(B) 0
1
©) 77 1
(D) 09—

44. AN GO e FE Ta—
(A) G
(B) Greiifeara
(C) rIFFa
(D) “WIGFFaE

45. 9afeg g @FFHa & erEW B9 gAY
e

(A) 14 GEIEpRRe
(B) faces

(C) EIRIFEFIEA
(D) FIEF TEARZE




46. The degree of the polynomial 3 is
1
a) 5
(B) 2

O 1
D 0

47. The Bengal Famine of 1769-70 was
worsened by '

(A) Locust attack

(B) Rat infestation

(C) High levels of taxation
(D) Smallpox epidemic

48. Shortest National Highway in India—
(A) NH548
(B) NH8
(C) NH44
(D) NH3

49, Asteroids are found between the orbits of
(A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

50. Iftheangle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m
(B) 1043 m
10
© F"
(D) 100m

51. The valueQOf \/10+1’27+«’65+«/256 =7

(A) 9
(B) 8
©) 6
) 4

-

C-1
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46. 5 T TR NG

@) 3
(B) 2
(© 1
(D) 0

47. 1769-70 T IR WECS &0 ARE
(A) SATAIET St
(B) T ATE
(C) &3=1 et e Fiaed
(D) &b e 2R W A=

48. A0S TRBE FPrees TR AeE (NH)—
. (A) NH548
(B) NHS
(C) NH44
(D) NH3
49. I 76 THAT A SR SiNST T2
(A) e TE=ifs '
(B) T € Jrfe

() T e W
(D) = @ ZeE

50. WTH Topm w3 R (A0 (NIRIRE BleTEd
PO BafE @ 60° €% TISHTHR (A%l (AT €%
@ g 10 1 BrezEs St

(A) 10

- (B) 1043 f:
10

©) Tgﬁ

(D) 100 fi:

51. J1q+\127+m =7
(A) 9 .
(B) 8
(OGN
(D) 4
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52. The mean proportional of 16 and 25 is
“(A) 400
(B) 100
(©) 20

D) 40

53, Ifx=2+J§,x+—1£=?
(A) 2
B) 243
© 4
(D) 2-43

54. A mixture contains alcohol and waterin the
ratio 4 : 3. If 5 1t. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t
@) 121t
(C) 151t
(D) 1811

55. The strait divides Europe from Africa—
(A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

p fE_E_E_Za—3b+4c
56. 1 _3_4__—p

2 , the value of

pis
(A) 10
(B) 12
(C) 11
(D) 13

C-12

52, 16 R 25-9F NYAARANS
(A) 400
(B) 100
(©) 20
(D) 40

53, o x=2+\/3_,x+%~&ﬂ?.ﬁnﬂi@
(A) 2
(B) 243
©) 4
D) 2-v3

Teloee 5 1 e vleE SRATe T 4 : 5 | OiE e
Fleifors @ sifme s e ot @@

(A) 10 5"

(B) 12 feimim

(C) 15 o

(D) 18 5@

55, (@I 2T 2BEIoh 6 ST Roe Tw@E?
(A) TR
(B) @fis
(C) fe=rsE
(D) (etolg

54, =6 R SRR 8 TEd S 4 1 3|

4
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57. The product of two positive numbers is ;g
and their quotient is L Two numbers are

(A)14

g

-

8

| W | o w o
|ty aon

g

58. Inapartnershipbusiness theratio of capitals

of Amit, Angana, Badalis as = 1 If they make

a profit of Rs. 3,700 at the end of the year
The profit share of Badal is

(A) Rs. 1,500

(B) Rs. 1,000

(©) Rs. 1,200

(D) Rs. 2,000

59. Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

60. Buluand Tathagatacandoawork separately
in 20days and 30 days respectively. After working
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take to complete
the work alone?

(A) 20 days
(B) 28 days
(C) 24 days
(D) 16 days

FMRI/22

57. {6 WY G
301 6 2
(A)

(B)
©
(D)

E R @TW 515_'1,

il |t il row| =
s wnjovwn| s

58, @3l SAWIE NN i, S, ARE

sﬁwwvn@llllwmwmmﬁ

ST 3,700 Bi<et &1, T TP )
(A) 1,500 i
(B) 1,000 51t
(©) 1,200
(D) 2,000 Gisl

59, fsfaie wmelem W we Bl cotafe
(A) e
(B) e St
(C) SRS S
(D) Toeitd T I ST SIFAl

60. T R TS I FieT 9P G| I
20 3R 30 it FI0S A | O ==y 7 i e
TR 715 TR 50 (97 |03 Ofef3 1 6t 10 e
NS PG R FAE! NG G TOIZ G (13 THW
TS A (A ?

(A) 20 =
(B) 28 =
(C) 24 7=
(D) 16
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61. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A} Yamuna

(B) Ganga

(C) Hooghly )
(D) Gomti

62. 2 cos30 =1, value of 6 =?
(A) 10°
(B) 15°
(C) 20°
(D) 30°

63. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsén?

(A) Viswanathan Anand
(B) Praggnanandhaa.
(C) Gukesh

(D) Arjun Erigaisi

64. Lime water reacts with chlorine to give
(A) bleaching powder '
(B) baking powder
(C) baking soda
. (D) washing soda

65. Who amongst the following male
international cricketer have NOT scored a double
hundred in a one day international?

(A) Sachin Tendulkar
(B) M.S. Dhoni
(C) Rohit Sharma

. C-14

61. N Y o= [ SIHred 49w (NG @Ed

' IR e (ofd T e
(A) T
(B) =
(C) =5l
(D) TS

62. 2 cos30 =1, 0-99 W« T2 }

(A) 10° a

B) 15°
(C) 20°
(D) 30°

63. 2023 a7 WAl AT TIRAGT PSR
Pl RS (@I SO A SPBIR (ITeiRle ¢

(A) Fmetes s
(B) g™

(C) T

(D) wregs afsiizf

64. TR S oA @A R ww ot =
(A) T3 #fewta
(B) @R «iiToE
(C) AR Grel
(D) FAT 5! G

65. OTMCTI AITEG AL CLETIE (I (ARG
BIRE G (R 1S ) A0S AT
(A) A (T
(B) @ (4if
(€) cEifEe =t

(D) Shubman Gill

(D) woue ot

b ]




66. Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
{C) Dwarkanath Tagore
(D) Keshab Chandra Sen

67. The ratio of two numbers is 3:4 and their
H.C.Fis 4. Their L.C.M. is

(A) 12
(B) 48
(©) 24
D) 16

68. Freestyle is NOT an event in which of the
following sports?
(A) Swinming
(B) Wrestling
(C) Archery
(D) Skiing

69. Ifa:2=b:5=c:8then
50% of a = 20% of b = % of c.
1
@) 123

1.
®) 125

1
©) 10-5

(D) None of the abpve

i 70. Which of the following is biodegradable?
| (A) Aluminium can

| (B) Polythene bag

(C) Cowdung

(D) DDT

C-15 ' FMRI/22

66. SR =erRs By of wo! afoRe FE
(G

(A) TS 7T
(B) wIScAES A
(C) wIFFIY ST
(D) CI6H G

67. To AT TS 3:4, SR AL, 4 T,
FANALS T
(A) 12
(B) 48
(C) 24
(D) 16

68. & 3572 P R @3 et e
(A) HoR :
(B) (¥
(C) oz
(D) FR

69, AMa:2=b:5=c: 8509
a-99 50% = b-99 20% = c-99 %.
1
(A) 123

1
(B) 125

1
© 105

(D) &A@ @IEHR 7

70. Qe NG (TG 0F AGAANA ?

(A) SEERIIGE silg
(B) == s

©) IRT

D) TR’
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71. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20

. (B2

(C) 25
(D) 30

72. The mirror used as rear-view mirror in
vehicles—

(A) convex mirror
(B) plane mirror

{C) cylindrical mirror
(D) concave mirror

73. A pump of 5 HP can lift 36000 It. of water
in 8 hrs. How long it will take to lift 63000 It. of
water by a 7 HP pump?

(A) 10 hrs.
{B) 12 hrs.
(C) 15 hrs.
(D) 8 hrs.

74. The average of 5 numbers is 45. First four
number is 40, 35, 60, 55, then the fifth number is

(A) 40
(B) 35
(C) 60
(D) 55

!

75. Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of
(A) Galium
{3) Aluminium
() Zinc
(D) Silver

C-16

71. 936 qegrEd 5T o afeha s
172° @3] oot Srgsriet afeloa «ifasnst 1600
@R PR

(A) 20
(B) 21
(C) 25
(D) 30

72, P R (7419 T OO SR SiIfSTS Qe o
- ,
(A) T@et wRml
(B) WoH SEl
(C) @I St
(D) SIwE SRl

73. 5 SRSl iR G0 Al 36000 f: e
8 4BI il GO0 AT | 7 SPyFsTs] 79 AA=ig
63000 f&1: &1 gETCs T N
(A) 10 T%]
" (B) 12 9%l
(C) 1599
(D) 89t

74. 576 ALY 51T 45 | == 4 16 741 40, 35, 60,
55 =T, #igm AR =
(A) 40
(B) 35
(C) 60
(D) 55

75, (FIICE TG T (AT TH FE T 9 Fey
S{feaT STl Rl T (SPETSIIRIEHA) ©f 2
(A) coiferar
(B) epfaet
(C) wal
(D) il




, 76. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
from the starting point is

.(A) 34m
(B) 17m
(©) 26m
(D) 25m

77. In which country the 2023 Asian Games
was held?

(A) China
(B) India
(C) Qatar
(D) Japan

- 78. The diagonals of rhombus are in the ratio _

3 : 4. If the area of the thombus is 54 ¢cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60cm
(C) 30 cm
(D) 12cm

79. Roots of the plants absorb water from the
soil through the process of

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

80. The price of a machine in a factory
depreciates at the rate of 10% of the price at the
beginning of the year. If the present price is
Rs. 60,000, then calculate what will beits estimated
price after 3 years,

(A) Rs. 43,740
(B) Rs. 43,700
(C) Rs. 43,640
D) Rs. 44,740

C-17 - EMRI/22

76. GG JFF G T AP 24 [: Aol
I GR ST 10T %@aﬁ@muwmﬁ
iea =Y

(A) 34 f:
B) 17 f:
© 26 ®:
(D) 25 f:

77. (P G SR Cofe 2023 ST T
(a) 5=
(B) ©Ig%
(€) wo=
(D) ==

78. T 93 TIOW FMPBI TAS 3:4 O3

L TR R 54 TN 20, T Oig AR 2

(A) 48 GIf
(B) 60 &
(© 30 Gif
(D) 12&[

9. SNtz PTG b (30 ot W T @i o
&
(A) Reem
(B) Aitpiea fsfw -
(©) =i ‘
(D) Gofe™ T4y IAIDE 77

80. 4l FITAT EPa =T &fS I=F 10%
R QI 2 | KRG SET 60,000 517 2, 3 =R
(R €2 (IS 70 TJ

(A) 43,740 5rt
(B) 43,700 515
(C) 43,640 Bt
(D) 44,740 5=t
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81. Thecostofcultivationofa30mlong pieces
of land is Rs. 150. If the breadth of the land be Sm
less, the cost would have been Rs. 120. The breadth
of the land is

(A) 25m
(B) 35m -
(C) 30m
(D) 40m
82. With the success of Chandrayan Mission

India has become the country in the
world to achieve soft landing on moon.

(A) First
(B) Second
(C) Third
(D) Fourth

83. The length of a radius in a circle drawn by
Arun is 7 em, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the.
centre of that circle.

(A)
(B)
©
D)

R A waca

26
16|50
16| x (40
(A) 16
(B) 4
© 2
(D) 8

K=
O

85. If the median of arranging the ascending
order of data 8, 9, 12, 17, x + 2, x + 4, 30, 31, 34,
39 is 24. Then value of x is

(A) 22
B) 21
(©) 20
D) 24

81, 30 f: IRFR sl whi sh Sao v =
150 Bt | afi wfim 27 5 : 30 =©, ©@ 4
120 o/ 7o | wfifod o o)

(A) 25%0:
B) 35f:
(C) 3013
(D) 40 f:

82. vER SR Siw R w=eReia ATET
wRred T [ |
(A) @
B) f=ew
(©) vom

D) vgd

83, T SRR Sl JreR WIIER e 7 IR,
TR GR 08 5-5 G CHUdiR @il IRl (g (b
FIR W T

(A)
(B)
(e
™)

SN RN N

84.
9126

9 |16450
16| x |40
(A) 16

(B) 4
© 2
D) 8

85, SHTAFE AT 8, 9, 12, 17, x + 2,
x+4, 30, 31, 34, 39 S WG 24 T, x-9F A
?{CEI .

(A) 22
®) 21
(C) 20
D) 24
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86. A man’s presentageis 125% of what it was
10 years ago. His present age is

(A) 40 years
(B) 70 years.
(C) 50 years
(D) 60 years

87. Tooth enamel is made up of
(A) calcium phosphate
(B) calcitim carbonate
(C) calcium oxide
(D) potassium

88. Half of a tank of 21 dcm length, 11 dem
breadth and 6 dem depth is full of water. Now if
100 iron spheres of 21 dcm diameter is immersed
completely into the water of the tank, find the rise
of water level in dcm.

(A) 2-1dem
(B) 21 dcm
(C) 2l cm
(D) 2-1cm

89. If 0-8x+§=0-23+2, then value of x is
(A) 332
B) 223
(C) 223
(D) 332

90. A man can row 8 km/hr in still water. If the
river is running at 3 km/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22-5km
(B) 32-5km
(O 25km

(D) 275 km

86. «F & TENT T 10 I #{TE AFHA-9F
125%, ©19 I A 2
(A) 40T
(B) 707

(C) 509
(D) 603

87. WIToF A SIS &) wiCs
(A) TERIN TR
(B) TEtmT FLEAD
(©) TEfRa IZe
(D) =i

88. 21 cofifil W, 11 ofifi 2xe «=k 6 cofify
Tl 6 Gt ST wEe il 99 GR
coTatenta 3 21 G S RMR e 100 T e
CoMeTR STeief BRI (ReTt 21 Ord et 5 (R
Toita BIA e

(A) 2-1 ceRf
B) 21 cefif
(C) 21
@) 21

89, 0-3x+§=o-23+2, x99 i
(A) 332
B) 223
(©) 2:23
(D) 332

90. &% % fm wer 8 B/ T 7T 17, TR

T Eve @ 3 Rty = @k @iven Reidos

TR S ST IO @IS I (A0 3 |-
- T R w0, SR 98 I Y
' (-A)_ 225 f3¥f
(B) 32:5 B[
(C) 25 =W
D) 275 F{
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91. Which number would replace in question
marks in the series ? The series 7, 12, 19, 7, 39.

(A) 24
(B) 26
(C) 28
(D) 29

x244x-5
x2 —4x+3

x2—x—6
M X
x2 +4x-5

92, Find value

]
|
—

(A)

o o=
+ +
[ S5 I )

(B)

%
tIJJ’—‘

|

© =
(D) None of the above

—

93. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him.

(A) 26%
(B) 78%
(©) 52%
(D) 13%

94. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
(B) 2:5cm
(C) 1I'5¢em
(D) 8cm

95. What is the full form of SAI?
(A) Sports Association of India
(B) Sports Archery of India
(C) Sports Authority of India
(D) None of the above

C-20

91. 7,12,19,7,39 R TS ? A GO RAMD
2{q? .
(A) 24
®) 26
© 28
(D) 29

x2-x-6 x2+4x-5
2+4x-5  x2—-4x+3

92, v Fefm Fat ¢
-1

b

(A)

o=
+ +
o o

(B)

®
[ |
W =

(o)
(D) Seitas (B

'l

=
|
—

93, g fdlen (P (olRmE 80% (o6
Tt 93 Red 21T ove (o1%F 65% (o (it
e e | R i eilhe =owat F© (oo
(OIS 2

(A) 26%
(B) 78%
(C) 52%
(D) 13%

94, W% qreq AP ol 5 G @R 3 AR
WG TR
(A) 2
(B) 2:5 W
(©) 15 G
D) 8 G

95. @7 & WZ (SAI-a7 <fgal 46 e
L (A) cIEH SHEREEE o afe
(B) ¢t s we 3t
(C) it wfafe wre 2fem
(D) 92fE T @I




96. Who among the following is the author of
the book ‘Bandi Jiban'?

(A) Rashbehari Bose

(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

97. Sodium hydroxide is used
(A) as un antacid
(B) in manufucture of soap
(C) us o cleansing ngent
(D) in alkaline batterics

98, Which of the following characters can be
nequired but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of cyes
(D) Texture of hair

99, xecyandy=8whenx=2;ify= 16, value
of x is

(A) 2
(B) 4
(ON
(D) 8

100, If a commodity is sold with successive
discounts of 20% and 10%, what will be the
cquivalent discount?

(A) 28%
(B) 30%
(C) 10%
(D) 20%

C-21 : FMRI/22

96, ‘TR G 43T @S &2
(A) TRRGR @
(B) I ArSITI
(C) el ST i
(D) ={SiEe sente

97, N TREIRC e T
(A) SRR R
(B) W Bt ey
(C) ifadia e ey
(D) BRHTE G

98, QRufiig Wy @D uoh e T P
Tt sjg sitea um Ay
(A) TG 3.
(B) (TR siéwt
(C) (IR 78
(D) @ fan

99, vy Ry =84 x =2, y= |6 T, x-9q
W T4
(A) 2
(B) 4
€ 6
(D) 8

100. <% 737 49919 20% G 109% =s [
FACE HIGET TG A

(A) 28%

(B) 30%

(C) 10%

(D) 20%
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple

circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answers. 0.25 mark Jor each answer.

There are blank pages at the end of this Booklet for Rough Work.

. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the

Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Freestyle is NOT an event in which of the
following sports?
(A) Swimming
(B) Wrestling
(C) Archery
(D) Skiing

2. Which number would replace in question
marks in the series ? The series 7, 12, 19, ?, 39.

(A) 24
(B) 26
(C) 28
(D) 29

3. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B) Ganga
(C) Hooghly
(D) Gomti

4. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s age was
thrice of my sister’s age. Find the present age of
my uncle.

(A) 20 years
(B) 40 years
(C) 80 years
(D) 60 years

5. Which of the following crop is an example
of Kharif crop?

(A) Cotton

{B) Wheat

(C) Mustard

(D) Batley

1. & %5f2s oW c4mifg wel s wa e
(A) o=
B) TR
(C) Toaif&
(D) WK

o }
2. 7,12,19, 2,39 <% fits 7 T @I AR
Jrq?
(A) 24
(B) 26
© 78
D) 29

3. (IR A o= fAca Sred AU I (e
o AL Cofd 2 ?
(A) T
(B) sl
(C) =oieqt
(D) CoiTS

4, S FIERET I T @IEE IO
WEE Fad| 10 I HiLsl BE FBETE T
RELES

(A) 20 7=
(B) 40 9=
(C) 80 =3
(D) 60 <=

5, frsffe @b e =772
(A) g
(B) o
©) sl
(D)




6. fa:2=»b:5=c:8then
50% of a =20% of b = % of c.

1
(A) 125

1
(B) 12?
(© 105

(D) None of the above

7. Inapartnership business theratio of capitals
AL

of Amit, Angana, Badalis as ; 3 4 .Ifthey make

a profit of Rs. 3,700 at the end of the year.
The profit share of Badal is

(A) Rs. 1,500
(B) Rs. 1,000
(C) Rs. 1,200
(D) Rs. 2,000

8. Sodium hydroxide is used
(A) as an antacid
(B) in manufacture of soap
(C) as a cleansing agent
- (D) in alkaline batteries

9. Headquarters of South-eastern Railway
Zone—

(A} Bhubaneswar
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

’ 10. Artificial flavour for orange is obtained
from

(A) amyl acetate

| (B) isoamy! valerate -

(C) methyl butyrate
(D) octyl acetate

FMRI/22

0. ﬂﬁa:2=b:5=c:8iﬂw
a-9¥ 50% = b-99 20% = c-<9F %.
1
(A) 123

1
®) 125

1
© 105

(D) BoAGR @R 73

7. <% SARE I wile, wEEl, qmEE

PGRCERCTE) é é%wmwmﬁ

A 3,700 BIF 27T, T sTeniee 1
(A) 1,500 Biet
(B) 1,000 Gre
(©) 1,200 Brt
(D) 2,000 it

8. GNET YREALT IS T
(A) o= qReae
(B) AT SAMS Ty
(C) ~Ifswa w19 &=y
(D) =@ Jiviface

9, SITSA WF-siE ST WA e —
(A) QI
(B) RiRivteTw
(C) T=ret
(D) e

10. FATEICS TN 5T BNCS [T T2 T
(A) SUNiEs SHfGs
(B) Sigpizs ShifEEs
(C) faaizs et
(D) wgiEe =yifis

Please Turn Over
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11. Ifaperson travels 10 km by bus in 30 mins.

Then the velocity of the bus is
(A) 10 kmvhr.
(B) 20 kmv/hr.
(C) 30 km/hr.
(D) 40 km/hr.

12. The Bengal Famine of 1769-70 was
worsened by

(A) Locust attack

(B) Rat infestation

(C) High levels of taxation
(D) Smallpox epidemic

13. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
from the starting point is

(A) 34m
(B) 17m
(C) 26m
(D) 25m

14. A pump of 5 HP can lift 36000 It. of water
in 8 hrs. How long it will take to lift 63000 1t. of
water by a 7 HP pump?

(A) 10 hrs.
(B) 12 hrs.
(C) 15 hrs.
(D) 8 hrs.

15. Lime water reacts with chlorine to give
(A) bleaching powder
(B) baking powder
(C) baking soda
(D) washing soda

D-4

11. IF @ EIEHCE 30 BIfREG 10km 7Y
wfSery (3, WiFE IR Aferad o=
(A) 10 kmv/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 km/hr.

12. 1769-70 I IR TSI 6 FARE
(A) PRHAICETS S
(B) R AN
() "eie dfert gfea e
(D) o6 wrsa TQNE S aF

13, T JE G0 Z4 (A 24 B sisals
i G O 10 3 Sealiee 319 | Targe (3w 6%
RUEERTH

(A) 34
®) 17
(C) 26 f:
(D) 25 f:

14. 5 =pgEret 7ot lb S 36000 fo1: &
8 IB1T BoTa HCS SIITH | 7 TS AR AT
63000 f&1: T&1 TEHS T3 M4l

(A) 1095
(B) 122G
(C) 15 9%t
(D) 8 9%

15. P o OI1R @IRTR R e toff
() fafee =tierg
(B) Q¥ ~i%er
(C) &R e
(D) TG Tt EIe!




16. Find value : :22 ::;65 x ’;22 J: jf:. 35
W =
®) 2
© =3

(D) None of the above

17. The product of two positive numbers is %
and their quotient is L Two numbers are

1 4

_—
NS
|| oy B

P
0

i L] b o w

-

g

18. Ifthe mode of data 16, 15,17, 16,15, x, 19,
17, 14 is 15. Then value of x is

(A) 15
(B) 16
(C) 17
(D)-19

19. Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of

(A) Galium
(B) Aluminium
(C) Zinc

(D) Silver

20. Shortest National Highway in India—
(A) NH548
(B} NH8
(C) NH44
(D) NH3

FMRI/22

x2+4x-5
x2—4x+3

x2—x—6

16. S el 3t 85— — x

=
|
—

(A)

- =
[t I S ]

(B)

" oR
|
w et

© 34
(D) ©HATEd @IwIg 77

17. 6 e e 1 gz i 5 T,
SRS :

o w >
N e N

-

| W Ll b L] P | —

8

LT . T T Y N

18. 16, 15, 17, 16, 15, x, 19, 17, 14 S
AT A 15 T, 197 5 =@

(A) 15

B) 16

©) 17

D) 19

19. (IR TAE #IT! (A T FAI & T e
s{feet 2t (redl 27 (ShETemiErem) ©f 25
(A) coiferam
(B) U
(©) Wl
(D) ol

20. SIS MO HIPETT TSR 76 (NH)—
(A) NH548
(B) NHS
(C) NH44
(D) NH3
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21. If x=2+~/§,x+%=?
(A) 2
B) 243
© 4
D) 2-43

22. The degree of the polynomial /5 is
1
(A) 5
B) 2
1
®) 0

23. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

24. The mirror used as rear-view mirror in
vehicles—

(A) convex mirror
(B) plane mirror

(C) cylindrical mirror
(D) concave mirror

25, Largest river island in the world——
(A) Sundarban
(B) Majuli
{C) Java
(D) Andaman

D-6

21. I x=2+\/37,x+%-\ﬂ§7ﬁ?\‘?{@
(A) 2
B) 243
©) 4
D) 2-43

22. J5 Il SRGWEE et
*) 5
(B) 2
©) 1
D) O

23, e ST Bt =% w-a3 @749 (F2
(A) =i S
(B) «iffs e
(C) =wieaé foifere
(D) i B

24. fores i OTAIR B (1 WAL S1iTTS QI o
Egl

(A) ©Ee STl
(B) G !
(C) @R wiEw!
(D) Swe ST

25. fivam FgRs TAH—
(A) a9
(B) e
(C) wfel
(D) s
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26. The average of 5 numbers is 45. First four 26. 570721 51T 45 | 2195 4 16 71 40, 35, 60,

number is 40, 35, 60, 55, then the fifth number is 55 2r&, wlem Wi 21
(A) 40 , (A) 40
(B) 35 (B) 35
(C) 60 (O 60
D) 55 D) 55
27. How many kilometres comprise of a 27. WAL (-9 T© [l diers =09
marathon run? (A) 42
(A) 42
B) 25
(B) 25
© 36 (C) 36

28. The price of a machine in a factory 28. @3 TR R W0 2fs T=" 10%

depreciates at the rate of 10% of the price at the (A ZeS 2 | (NS o0 60,000 511 201, 3 451
beginning of the year. If the present price is oI 6% IR ST 29
Rs. 60,000, then calculate what will be its estimated | '

price after 3 years. . (A) 43,740 Bit
(A) Rs. 43,740 (B) 43,700 B!
(B) Rs. 43,700 ' (C) 43,640 Bt
(C) Rs. 43,640 (D) 44,740 50
(D) Rs. 44,740
29. The colour that scatters the least by the tiny 29, INEE TH IFIeE a9 @ 67 Wi
particles of the atmosphere is w0 Rvgad 95 it &=
(A) violet (A) @l
(B) green
(C) yellow (B) g
D) red . © =
(D) =
1 : 1
3 L
30. {(125)"% (16)_5} = 30. {(125)“2x (16)_%} =
(A) 10 (A) 10
(B) 107 _ (B) 107
€) 107 (C) 107
®) 1 ®) 1
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31. The strait divides Europe from Africa—
(A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

32. What is the full form of SAI?
(A) Sports Association of India
(B) Sports Archery of India
(C) Sports Authority of India
(D) None of the above

33. Grand Canyon located in
(A) Ghana
(B) Bolivia
(C) USA
(D) France

34. The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

(A)
®)
©)
D)

8 B8 Wy oA

35. Find value of
sin43° cos47° + cos43° sin47°.

(A) O
B) 1
(C) sing®
(D) cos4®

31. @I A 3B e wREE Rew srm?
(A) T
:)WIER
(C) TerErom
(D) Cefed

32. 31 @ HiZ (SAD-9F =1 TG e
(A) GG SPTIRGMR oI 3!
(B) ciiow st o 3femt
(C) it sl o 3w
(D) wsfFR g @t T

33. o Fifwaw w1Ee
(A) AR
(B) e
(C) =i
(D) T

. i SRR SRR YTEd TP O 7 G
S G LT 5-5 G CCE b1#1 RIS (e (IlGT
&Y 7 A

(A)
(B)
©
D)

e A8 waoa

35. sin43° cos47° + cos43° sin47° =7
(A 0
B) 1
(C) sing®
(D) cos4®




36. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim

(C) Arunachal Pradesh
(D) Tripura

37. If a commodity is sold with successive
discounts of 20% and 10%, what will be the
equivalent discount? ’

(A) 28%
(B) 30%
(©) 10%
(D) 20%

38. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(C) 59
(D) 68

39. The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
(B) 125%
(C) 25%
(D) 130%

40. If 0-8x+§=0-23 +2, then value of x is
(A) 3-32
(B) 22-3
(C) 223
(D) 332 -
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36. @ e Tex o7 e ‘Frew s
(Seven Sisters/Ai® (I )47 S@sfo T9¢
(A) (NI
B) Ml
(C) S=Fe{ba 2™
(D) s

37. @9 T *991F 20% 99 10% Qe [
T ANGe) % =0T
(A) 28%
(B) 30%
(C) 10%
(D) 20%

Y

38. ST ¥R SICE TR AR SO D 1493%
FEITG (ATF 29 R Tt S TN g 1A
faefa <1

(A) 95
(B) 86
(C) 59
(D) 68

39. 93 CollETCa iR Tl 50% I TR
IO (P 34 A
(A) 120%
(B) 125%
(C) 25%
(D) 130%

40. o-8x+§=o-23+2,x-ﬂﬁﬂmm
(A) 3-32
(B) 223
(C) 2:23
(D) 332
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41, Who amongst the following male
international cricketer have NOT scored a double
hundred in a one day international?

(A) Sachin Tendulkar
(B) M.S. Dhoni

(C) Rohit Sharma
{D) Shubman Gill

42. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

43. A mixture contains alcohol and water in the
ratio 4 : 3. If 5 1t. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t
B) 121t
(©) 151

(D) 181t

44, Who among the following is a part of the
political executive?

(A) District Collector

(B) Secretary of Ministry of Home Affairs
{C) Home Minister

(D) Director General of Police

45. 2 cos30 =1, value of 6 =7
(A) 10°
(B) 15°
(C) 20°
D) 30°

D-10

41, mﬁmm@ﬁ’ﬁ*wmﬁmm@mmw

' BE G (7 XS T TS AR

(A) Ao (oL -
(B) ., i
(C) fzw i
(D) = oI

42. =12 ¥ @& (IPL)-93 <jia A e
(A) TR caifiiz et
(B) Zfam sifemis et
(C) 3 s Gt
(D) e i et

43, 4% T Syieeaes @ GE A 4 1 3
Het{re 5 for: o DI ST = 4 1 5 | SigF 2WE
Rretfore @ iRt e feet of 7=

(A) 10 {0
(B) 12 foi
(C) 15 o
(D) 18 o=

44. EreT MR WiRES @ wwe
(A) (o ANTS! (FIETA)
(B) T AT
(C) wig %@
D) sfffers witgel (g comies)

45. 2.c0530 =1, 09T A TR
A) 10°
(B) 15°
(C) 20°
D) 30°
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46. The costof cultivation of a 30 m long pieces 46. 30 T5: (iR w ol ofil 58 s s =™

of land is Rs. 150. If the breadth of the land be 5m 150 it t I g oz 5 [ oW 7o, o[ 496
less, the cost would have been Rs. 120. The breadth 126 bl =0 | TR o8 A

of the land is
(A) 25m . (A) 25T
(B) 33m B) 35
(C) 30m (C) 30
(D) 40m (D) 40 f:
47. Which country shares the longest border 47, i =for@R (T TR SReR ﬁm’@a
with India? m Wiz ?
& pa ® ¥
stan
EC) Nepal R
(D) Bangladesh | (C) Gt
(D) JIEmoe
48. The mean proportional of 16 and 25 is 48. 16 932 25-7 TS
(A) 400 - v (A) 400
B) 100 T (B) 100
(C) 20 . (C) 20
D) 40 ; (D) 40

49. The value of \/10+\f27 +/65+4256 =7 49. \/10+«}27‘+«/65+«,/ﬁ =?

(A9 ' (A) 9
(B) 8 - B) 8
Qo . ) 6
D) 4 | (D) 4

J 50. Acid rain is caused by the oxides of 50, @R A @eRE SRS it 7Y
(A) carbon Fade
(B) nitrogen (A) TR
(C) sulphur B) ARGEA
(D) sulphur and nitrogen ©) T
(D) &< @ TRGIEH
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51. The theme of India’s G20 presidency
**Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana
(B) Maha Upanishad
(C) Rig Veda

(D) Smriti

52. A train passes two bridge of lengths 210m
and 122m in 25 sec. and 17 sec. respectively.
Length of the train is

(A) 60 m
(B) 70m
(C) 65m
@) 75m

53. If the median of arranging the ascending
order of data 8,9, 12, 17, x + 2, x + 4, 30, 31, 34,

39 is 24. Then value of x is

(A) 22

(B) 21

) 20

(D) 24

54. A man can row 8 kmn/hr in still water. If the

river is running at 3 km/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22-5km

(B) 32-5 km

(C) 25km

(D) 27-5km

55. Whatistherate of simple interest per annum,
when the interest of some money in 10 years will
be 2 part of its amount (principal along with
interest)?

2

(A) SEA)

(B) 6%-%

© 6%%

(D) None of the above
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‘51, SRS HICITETS G20 IR 31 78 “TE

| IpEe eife qF -3 Aiffaa M @b

e ?
(A) SIS
(B) TRTifaw
(C) Asiw
(D) S

52. <35 G 2101: 92 122 - Tt it faee

25 (TR 17 (1: T S ers Sz | Ga O
(A) 60f:
B) 70
(C) 650:
D) 75 fi:

53. TP A@A 8, 9, 12, 17, x + 2,
x+4, 30, 31, 34, 30 OTF FG 24 A, 1~ T
EIe|

(A) 22
®B) 21
(©) 20
(D) 24

54, @3 & iz wem 8 F6f/9: carst i v, 3
19 @ites @ 3 B9 @ 9k @ives R
GFE AT TSP FI0S FITOF SFHETH (40T 3 -
ForE G FAE, O 6 B A T

(A) 22-5 f

(B) 32-5 fFf

©) 25RR

D) 275 &R

55. o3l AT YT T F© T @R BIPR
10 IR o, TA-STE % e JA?

(A) 5%%

(B) 6%%

20
© 63%

(D) Sotad @IE3 73




56. Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m
(B) 10y3m

) 10
© 7™
(D) 100m

57. Whohad won an Olympics gold medal for
India in shooting?

(A) Jaspal Rana

(B) Rajyavardhan Rathore
(C) Manu Bhaker

(D) Abhinav Bindra

58. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE||BCand AD : DB =3:1;ifEA =3-3 cm, then
length of AC =7

(A) 1-1cm
(B) 4cm

(C) 44cm
(D) 5-5cm

59. The ratio of two numbers is 3:4 and their
H.C.Fis 4. Their L.C.M. is

(A) 12
(B) 48
(©) 24
(D) 16

60. Asteroids are found between the orbits of
_ (A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus
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56. WIT5T Tl TG Ay (G GAIRIEST BreaeER
TO Bafs @i 60° @32 GISAITER (ol (30T 63
@ e 10 f3:| GreamaR Ewel

(A) 10T:
(B) 1043 fit:

10
(© ﬁﬁ:
- (D) 100 %

57, SRS T (RIPIS SINees L& F0
T FEAREH (F?
(A) T et
(B) ANETRE AT
(C) T o,
(D) wfen< et

58. AABC-93 ABRR ACIFSsa DS ERT
GNSIE ©fFS @ DE || BCUR AD:DB=3:1,
W EA = 3-3 (1% 28, O AC-9F 00 =3

(A) 11l
(B) 4@

(C) 44 R
(D) 55 G

59, %6 LR SRAS 3:4, O ALY, 4 T(H,
LS FF '
(A) 12
(B) 48
(C) 24
(D) 16

60. (T X6 FHALT T AR Aeq T ?
(A) HfFTegz=e
(B) =teT @ I
(O 27 e
(D) i @ T
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61. Roots of the plants.absorb water from the er
b

soil through the process of
(A) diffusion
(B) transpiration
(C) osmosis
(D) None of the above

62. What will be the value of %+%+% ?
B) o
®) >
© o5
®) +

63. With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.

(A) First
(B) Second
(C) Third
(D) Fourth

64. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him. '

(A) 26%
(B) 78%
(©) 52%
(D) 13%

- 65. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is

(A) 12-5cm
B) 12cm

(© 5 cm
(D) 24 cm

¥n
D-14

61. stz e Aiff (4w o=t i m e o

5 =

b

(A) Remm

(B) Jreeimi s

(C) Sraet

(D) 9o g @B

Ll el oqsm v 2o

62, ‘5—6'+'7—2+90

A)
(B)
(©)

5
84
3
™
7
%
o L
i 6

63. SR SIS it (R waeats ATy
wigred I+ [y |
(A) &%
(B) fasom
©) v
D) ve¥

64. 3% i @ae colbama 80% (o
Tt w3 et 2Atdl awe coItie 65% colb i
fifte T | oF @ =ife ool T o
. (oTATEA ?

(A) 26%
(B) 78%
(©) 52%
D) 13%

65. 9T e TP 07 13 Gifl 9 J0eF
TG G 10 GifRY, 06T @ (U T Y
(A) 125 G
(B) 1261

©) Jes Gl
D) 24 G




66. The diagonals of rhombus are in the ratio
3 : 4.1f the area of the thombus is 54 cm?, then the
perimeter of the rhombus is

. (A) 48cm
(B) 60cm
(C) 30cm
(D) 12cm

67. Name the two states of India involved in
Cauvery water dispute.

(A) Karnataka and Tamil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

68. P V Sindhu is a champion Indian player in
which sports?
(A) Basketball
{B) Table tennis
(C) Badminton
(D) Tennis

69. A pond will be dug in our locality. 24 men
need 12 days to cut that pond. How many men will
be needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

70. Which one of the following planefs has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

D-15
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66. T @ THEE BT AT 3 : 4 @R
WWSMWEW@?W@
(A) 48 13
(B) 60 (At
(C) 30T
(D) 12 Rl

67. PR G0 KA SRS v 96 157

Tioe?
(A) 1% ¢ wiiEmig
(B) 65 @ e

(C) @77 ¢ SifiEmg
(D) efe=it 8 Sz

68. (I c¥EICS P34 TS g wrem mifom gl
c4tEarG e
(A) ICI6I
(B) OoF= G
(C) Ihrs
(D) B

69. ST NS 7T OO 2R | 24T FI
@3 %37 oS T Al 12ﬂ—»n3ﬁme3m
TS T A

(A) 36
(B) 30
(C) 48
(D) ©oi=d @GR

70. (T SEE FAAEE @R AT @S Toigg

itz ?

(A) TE
(B) Tf$

(C) I9gs
(D) =&

" Please Turn Over
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71. Buluand Tathagatacandoawork separately
in 20 days and 30 days respectively. After working
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take tocomplete
the work alone?

(A) 20 days
(B) 28 days
(C) 24 days
(D) 16 days

72. In which country the 2023 Asian Games
was held?

(A) China
(B) India
(C) Qatar
(D) Japan

73. Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

74. Find the value of X for which (x-3) will be
afactorof the polynomial K2x3 — Kx? +3Kx— K.

(A} Oor —

27
®B) 0
1
© %

=
(D) 00r—§

75. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance betweentwo centres of two circles is

(A) 2cm
(BY 25¢m
(© 15cm
(D) 8cm

' D.16

71, T 4R SIS 93 T a3 G JUF
20 93 30 T T30S =it | O G 7 T i
TR P MSCAZ B (51T | 04 108 5T bt 10T
I I (#13 FACE 1\G2 DIEID SISIR G (18 FACS

TS AT (N ? ~
(A) 20f=
(B) 28 fi=
(©) 24 fim
(D) 16 faa

72. (I @0 SRR (oIt 2023 S Z3 e
(A) B\
(B) ©IF®
() o™
(D) ===

73. Tafied xordice B «f st gfefee T

G

(A) TYRAIE 7T
(B) Sl A1
(C) T I
(D) @IToE W

74, K2x3 —Kx2 +3Kx—K q2oRl ALNNER
(x — 3) 9B BANT T, K-99 T I

1
(A) 0w
®) 0
1
©5
(D) 0wl -

75. 96 e [T o 5 G @ 3 @R
RESIEN
(A) 21
(B) 25 G
(©) 15l
(D) 8 IR



76. If 5=

pis

_2a-3b+4c
r

ml‘:r-
]

, the value of

5N

(A) 10
-(B) 12
© 11
(D) 13

77. Tooth enamel is made up of

(A) calcium phosphate .
(B) calcium carbonate
(C) calcium oxide

(D) potassium

78. Tomato is a natural source of which acid?

(A) Acetic acid
(B) Citric acid

(C) Tartaric acid
(D) Oxalic acid

79. Which of the foIlowmg causes depletlon of
the ozone layer? i

80.

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
() Carbon monoxide

Who is the director of the 2023 movie

Oppenheimer?

(A) Steven Spielberg
(B) Greta Gerwig

(Cy Christopher Nolan
(D) Martin Scorsese
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____Z_GM

5_3"4 p .p-ﬁﬂqﬂfﬂ

(A) 10
(B) 12
(©) 11
(D). 13

71, VST GRIGRT SO0 Ty et

(A) THEMEE T
(B) RN TG
(C) BEmm ST
(D) iGifEE

78. GITH! (I SifFeed el Bt

(&) T i
(B) AT wpibre

(C) s wife
(D) SR s

79. QafTT W (PG T STEN BT I

(A) I GBI
(B) Tz

(C) @RGP
(D) FHA WAHZG

80. 2023 AE LR STTEENE-9q #f2plEs
&t '

(A) Foren Peratsl

. (B) o1 ST

(C) TR
(D) WEw FwwT

 Please Turn Over




FMRI/22

81. Which one of the following countries is
NOT a permanent member of UN Security
Council?

(A) France
(B) China
(C) Japan
(D) United Kingdomn

82. Which one of the following Indian States
has the largest coastline?

(A) Tamil Nadu
(B) Gujarat

(C) Maharashtra
(D) Andhra Pradesh

83. Which of the following is biodegradable?
(A) Aluminium can
(B) Polythene bag -
{C) Cowdung
(D) DDT

84. Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

85. The Dutch were defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
(C) Pullalur
{D) Colachel

D-18

81. N oieleE® W W It aFTeRT.

frateret sifsae 2 g T e
(A) T
(B) B
(C) wiAw
(D) &=

82. SITCTH (P TS AT ORI ALGRE ?
(A) wifiEmrg
(B) =A%
(C) T

(D) S=HeAm

83. wafeg Tg @WG ok Aowtie
(A) SIS Ag
(B) == it
(C) ciag
(D) Efe®

84, fsfefie smeE g berR @nb
(A) TuE St
(B) e Sl
(ORCECHACIEC I
(D) JESIR T €38 S FL

85. @mmemwmﬂ@rwwm
ey sifer 3¢

(A) eTifdea
B) sitfsia
(C) =fegd
(D) =G




86. xcyandy= 8whenx 2;ify =16, value
of xis

(A) 2
(B) 4
© 6
D) 8

87. Which of the following charactcrs can be
acquired but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of eyes
(D) Texture of hair

88. Which among the following is an ethnic
community of Assam?

(A) Bhil

(B Ahom
- (C) Gond

(D) Adi

89. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

90. A train of length 100m, moving with a
speed of 60km/hr passes a tree. How many time
takes to pass the tree?

(A) 5sec
(B) 8sec
(C) 65sec
(D) 7 sec
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86. xmytﬂ?l'iy=8ﬂ‘1%1x=2;y=16“itﬂ,x-él§
RICES]
(A) 2
(B) 4
© 6
D) 8

R L e R A p————
TeRlfi 7 sthew T e

(A) ST T2
(B) (TR 10w
(C) GIRE T}
D) e

88. SMIGH Tifo9e TemE @Rb ?
(A) fe=
(B) =tz
(C) 5%
(D) wifi

89, 2023 fylst TR CAAT FRAA AAIH

‘ @Wﬁﬂ%@ﬁ%@ﬂwmﬁﬁﬂ?

(A), TPemtee S
(B) 2e@FNw
(C) T

D) o @R

90. 100m TR <l G 60km/hr ofeTRTst
Bersli] | 6B mmwwmwm?
(A) S5sec
(B) 8sec.
(C) 6sec
(D) 7sec
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91. Closest Jayer to the earth’s surface— 91. AR TP T FIWH TF—
(A) Mesosphere (A) GAFEaR
(B) Troposphere (Bj Feetfram

(C) Ionosphere

(D) Stratosphere (C) SREAIFFE

(D) SGreiPEaE

92. National Aquatic Championships is a 92, TSN TG Gl IR o GoICS (BT (U=

tournament held in which sports? T T2
(A) Archery (A) Fomfe
(B) Kho-kho B) @t
(C) Wrestling )
(@) Swimming (©) 3
' (D) =TI
93. The .image formed on the retina of the 93, Wﬁ@@g@ﬁq@mﬁ%ﬁ’q’m@@
human eye is (A) TEFS IR BBl
(A) virtual and inverted
B SIan
(B) real and inverted (B) &go :ﬁ
(C) real and erect - (C) ago &R Pl
(D) virtual and erect . (D) TATS @R Bt
94, Half of a tank of 21 dem length, 11 dem 04, 21 (SRR B, 11 R og @32 6 CCHR

breadth and 6 dem depth is full of water. Now if S o (BTl W Tl Witgl @dw R

100 iron spheres of 21 dem diameter is immérsed Stamst A 21 @ rhRRE weE 100 B e
completely into the water of the tank, find the rise ' ' :

of water level in dem. i ﬂ“’ff@ﬁm OReT! T O TR S (U

(A) 2:1 dem ' Telca Boa?

B) 21 dem . (A) 2-1 cefifs

(© 21 cm o (B 21 e

(D) 21cm / (C) 21 &I
' (D) 21 @M

95. Who among the following is the author of 95, ‘TR G 2B G (2
‘the book ‘Bandi Jiban’? ‘ (A) TARRR @

(A) Rashbehari Bose
B) T Az
(B) Veer Savarkar (B) 7 A=A

(C) Aruna Asaf Ali (C) w=Fett ST eilfe
(D) Sachindranath Sanyal (D) =i ARG




96. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
B) 21
) 25
(D) 30

97.
419126

16|50
16| x |40
(A) 16

(B) 4
©) 2
(D) 8

98. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit
percentage?

(A) 83%

®B) 10%

©) 9%%

(D) None of the above

99. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of K is

(A) 2or0
(B) -20r0
() Zor-2
{D) Only0

100. A man’s present age is 125% of what it was
10 years ago. His present age is

(A) 40 years
(B) 70 years
(C) 50 years
(D) 60 years.
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96. <6 7egred 5B Sreerene afefa s
172° =g 7y @iy afha s 160°)
TGS TR

(A) 20
(B) 21
(C) 25
(D) 30

97.
419126

1650
16| x |40
(A) 16
(B) 4
© 2
D) 8

98. 110 5 =i & ww= 120 6 wiom FwwEy
(AT *Te=al 7S T

(A) 8%%
(B) 10%
(© 9%
(D) ST FIAioE 7

99, % 4 + 6Kx + 9 = 0 AN e (b e
g, K~ 1 $5¢

(A) 299910
. (B) —2%]1 0

(C) 22| —2
(D) 10

100. &< e 7O T2 10 T *[H oA
125%, ©iF T&HIT I79 T

(A) 40 9=

(B) 70 3=

(C) 505

(D) 60 I=d
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